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-
5788 Laga 1l sunsy

1. TJsunsu "music"

100 *---mnmem L, load graphic data--------------

110 CLEAR1000

120 WIDTHBO,25: CONSOLEO, 25, 0,0

130 OPEN "sysb-dat" AS #1

140 FIELD 1,128 AS A$,128 AS B

150 60OTO 220

160 DATA kHeS, kHcS, kHdS, kH13, KHZ1, KHOO, kHOO, k19, kHSe
170 DATA LH23, kHSb, §H21, KHOO, kHOO, KH19, kHeS, kH21, kH2F
180 DATA YH90, kHSe, 4H23, k56, kHO1, LHAO, KHOO, KHel, kHTe
190 DATA %H12,4H23, K413, kHOb, kK79, §HbO, kHC2Z, kH1a, bHOO
200 DATA §HZ1,%H00,5HOO, H19, §H22, kH2F , kHYO, kHd1 , bHc L
210 DATA &Hel, SHc9, kHOO, kH60, K §

220 L=kH9000: IF L(O THEN L=L+A5534!

230 RESTORE

240 READ D1

250 IF HEXS (DX)="FF* THEN 290

260 POKE L,D%

770 LaL+l

280 GOTO 240

250 DEFUSR G = YH9000

300 LY=4HA000

310 K3=t

320 GET #1,K%

330 Dé=A$

340 1$= USR 0 (D$)

350 Dé=B$

360 1= USR 0 (D$)

370 Ki=Ki+H

380 IF L%> HAG00 THEN 420

390 L%=LY+kHB0

400 LU=L7%+EHEO

410 GOTO 320

420 CLOSE M

A0 e Double Bar----------

140 AD=kHA593

450 POKE AD,1:AD=AD+1:POKE AD,%H19:AD=AD+

460 FORI%=1T025:POKE AD,34: AD=AD+1:NEXT

470 RUN*set-key"

T2
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2. TWsunsu "set-key"

100 "¥ittgroutine to set status befor using pc-BOOL¥EX4Y
110 *date 25/4/82

120 CLEARZS6

140 KEY1, "a%=usrd(0) "+CHR$ (1)

150 KEY?,“"

160 KEY3, "y

170 KEV4,CHRS$ (5)+°1ist"

180 KEYS,CHR$(5)+*run®+CHR$ {13)
190 KEY,CHRS (5)+*10ad* +CHRS (34)
200 KEYT,CHR$ (51 +°save® +CHRS (34)
210 KEYS, *delete”

220 KEY9,CHRS (5)+* copy®

230 KEY10,CHRS(5) +*edit*+CHR$ 113)
240 PRINT CHR$(12)

250 RUN*load-obj"

3. TJsunse  “load-obj"

100 “stt¥kidroutine to display titief¥ityny

110 *date 23/9/82

120 DEFUSR1=YHD1R&:ADDR=EHD1AA+6553h 1 RE%=72

130 RESTORE 150

140 READ C:IF C=1000 THEN BOTO 160:ELSE POKE ADDR,C:ADDR=ADDR+1:50T0 140

150 DATA &h3e,th18,4h21,%h00,kh00, kheS, kh01, khd0, kh00, ¥h54, khSd, kh23, khed, khbo, khZb, khdd, kh01,4h78, &
h00,&hel, &h09, kh3d, khc2, khab, khdl, ¥hc?, 1000

160G PRINTCHR$(12)

170 LC=0:HC=79

180 "LOCATES,1:PRINT"enter direction (L/R) *;:D$=INPUTS$(1)

190 Ds="r*
200518=" WELCONE *
210 524=" .
220 §3=" -
230 §4s=" .

240 GOSUB 340:FORI=1T01500:NEXT
250 LOCATE34, 12:PRINT* T O  °
260 FORI=1T01300:NEXT:BOSUB 580
270 D$="1"



Th

280 Si%="
290 52¢="
300 53%="
310 54¢="
320 GOSUB 340:G605UB 610:B60SUBROO
330 RUN"load-add"
340 IF D$="1" THEN POKE &HDIB1,&HZ3:POKE %HD1B3,&HBO:POKE &HD1B4,%HZE:ADDR=YXHFI00+LC+655346' : MK=79:FG
=1
330 IF D$="r" THEN POKE &HD1B1,&H2B:POKE YHD{E3,&HBB:POKE %HDI1B4,%HZ3:ADDR=YHF300+HC+65536 ! : HM=0:FB=
=1
360 AD$=HEX$ (ADDR)
370 ADDR=VAL{("&h"+MID${AD$,1,2)):POKE &HDiAA,ADDR
380 ADDR=VAL("kh"+MIDS$(AD$,3,21):POKE KHD1AY,ADDR
390 POKE YHDIAD,HC-LC
400 PRINTCHR$(12)
410 IF D$="r" THEN GOTO 430
420 FORI=ITOLEN(51%):B0TO0 440
430 FORI=LEN{S1$)TOLSTEF-{
440 LOCATENM, 10:PRINT MID$(51%,1,1)
450 LOCATENM, 11:PRINT MID$(52¢,1,1)
440 LOCATEMM, 12: PRINT MID$(53$,1,1}
470 LOCATEMM, 13:PRINT NID$(54$,1,1)
480 A=USR1 (0) : 6OSUR 600
490 LOCATEMN, 10:PRINT " ¥
300 LOCATEMM, 11:PRINT * *
ato LOCATEMM, 1Z:PRINT * ©
20 LOCATEMM, J3:PRINT * ©
330 NEXT
340 FORI=1TO(80-LEN(S1$))\2+21FG
330 FORJ=1TOS0: NEXT: GOSUE A00:A=USRL (0)
560 NEXT
570 RETURN
380 FORI=1T025:FORJ=1T040: NEXT:PRINT:NEXT
590 RETURN ‘
&00 RETURN
610 *ti1¥¥load machine lanquagelsity
620 *machine subroutine at address YhEESO-YhEE44,&hEE70-XhEECO,YhEEDO-EEES, ¥hFZB0-khF 2Dé
630 ADDR=YHEE70+45534':RESTORE 700:G05UB 690
640 ADDR=YHEES0+455364' :RESTORE730:B0SUR 690
650 ADDR=YXHEED0+45536:RESTORE740:60SUR 490
660 ADDR=LHF290+65534'sRESTORE7S0:GOSUB 490
670 ADDR=YHF2B0+65536' :RESTORE760:6OSUB 490
680 RETURN
690 READ C:IF C=1000 THEN RETURN:ELSE POKE ADDR,C:ADDR=ADDR+1:60T0 490
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700 DATA k&h3e,kh41,%hd3, khet, khcd, khal, khee, khle, &h71, khd9, ¥ho1,&h S0, kh00, khed, ¥h42, kh3b, kh00, &hd3d, ¥
hcZ,kh7d, khee, khle, ¥h05, kh21, khof, ¥h93, k01, khel, kh01, ¥h36, khaa, kh09, khid

710 DATA %hc2,%hBd, ¥hee,kh3e, ¥h00,%h3d, &hca,khal, khee, khcd, Yhal, khee, khc3, kh94, khee, khde, kh01, khdZ, &
het,khc, kht3, khie, kh71,kh21, kh00, ¥hB5, khel, kh1, khaf, khoO

720 DATA &h34,%h5d,¥h23, khed, khbO,¥h2b, &hd?, kh01, &h50, &h00, khel , kh0F, kh3d, ¥hc2,khab, khee, kht1, &hcT, 1
000

730 DATA &h3e,khdl, ¥hd3, khet, ¥hZ1, kh00, &h00, kh3e, kh0O, kh3h, khaa,kh23, ¥hid, khc2, ¥h59, khee, khle, khil, &
hd3, khet, &hc9, 1000

740 DATA &H3E,&H41,%HD3, LHEF, ¥HZ1, ¥HO, kHBO, LH36, 4HO, EH11, kH1, kHBO, &H1, YHO, ¥H2D, &HED, kHBO, LH3E, kH1, &H
D3, LHEF, &HCY, 1000

730 DATA &H3E,¥HA1, &HDZ, LHEF  ¥HZ1, YHO, kHBO, ¥H36, kHO, &H11, kH1, 4HBO, &H1, kHO, kH40, &HED, &HEO, LH3E, kH1, bH
D3, LHEF , ¥HC, 1000

760 DATA &HZa,¥H00, LHOO, kHed , &H4b, LHOO, LHOO, &HOT, kHTe, kHfe, 4HOi, kHca, kHca

770 DATA &HEZ,4Hfe, YHOS, YHoa, kHoa, $HEZ, YHZ0, 4HOD, &H2b, RHOL, &Hc3, kHDB, kHEZ

780 DATA ¥HZ3,iH7e,%Hfe,kH00, LHZb, kHoZ, 4Hc 3, kHZ, kHed, kH43, kHOO, kHOO, kHCT

730 DATA 1000

800 *==o== Asseably Routine To Move Braphic Data---------

8i0 * date 1/12/82

820 DATA &HZa,YHOO,Y¥HOO, kHed, &HSh, 4HOG, LHOO, kH46, LHZ3, kHie

830 DATA &H3e,LHA4!, LHd3, kHef, LHZZ, LHdS, kHe S, YH1a, kHbb, &HIZ

840 DATA WHZI,LH13,%H10,EHET,4H00, kHOO, kHcl, ¥HOd, kH28, LHod

850 DATA HOO,&HdL, ¥HcS, kHeb, kHOL, ¥HS0, LHOO, LHOT, kHeb, kHc i

860 DATA &H18,kHeS, YHOO,kHd1, kH3e, LHO1, kHd3, kHef, kHc T, WHE4

870 ADD=YHEF00+453534!

B8O READ CX: IF CYUCYHFF THEN POKE ADD,CY:ADD=ADL+i: BOTD 880

890 RETURN



4. TUYsunsy "load-add"

100 *Routine to modify basic ioad address
LR PR et iR easeiasieesetesitsasstse:
120 A$="6600"

130 L=VALC"YH"+A$): IF L<O THEN L=L+65534!
140 D=LHBOOO+45536!

150 FOR I=1 T0 32

160 POKE L,FPEEK(D)

170 L=L+1:D=D+1

180 NEXAT

190 POKE LHEBS4, VAL ("LH®+MID$(HEX$(L),3,2))
200 POKE HEBSS,VAL (*kH*+M1D$ (HEX$(L),1,2))
210 RUN"MAIN®

5.1/5unsu  "MAIN"

1000 CLEAR1000:BR%=0:CR%=0:0A%=0:0B%=02TX$="NONAKE"

1010 AZ=VARPTR(BDZ):FUKE&HEFOI,VQL(‘&H‘+HID$(HEX$(AZ),3,2))

1020 POKE YHEF0Z, VAL ("&H"+RID$ (HEX${A%) 1,2))

1030 AZ=VARPTR(C@X) : POKELHEFOS, VAL (*kH* +MID$ (HEX$ (A%) 3,2

1040 POKE &HEF04, VAL ("§H"+MID$ (HEX$(AY),1,2))

1030 AX=VARFTR(OAL) s POKEXHF2B1, VAL {"kH" +MID$ (HEX$(A%),3,2))

1050 POKE&HFZBZ, VAL {"&H+NIDS$ (HEX${R%),1,2))

1070 A1=VARFTR(DBY) : POKEXHF2BS, VAL ("&H* +M1D$ (HEX$ (AZ),3,21)

1080 POKE&HF2B6, VAL ("kH"+MID$ (HEX$ (A%) ,1,2))

1090 POKE&HFZD4, VAL ("&H* +MID$ (HEX$(RY),3,2))

1100 POKE&HF2DS, VAL ("&H" +HID$ (HEX$(A%),1,2))

1110 DINDAZ (1000) : DEFUSRO=%HEESC: DEFUSR1=4HEE70: DEFUSR2=XHEED(
1120 DEFUSR3I=&HEF00: DEFUSRA=&HF290: DEFUSRS=YHF ZB0

1130 RG%=72:BASEL=RB%+45:ATL=75:TA$="123456789":EDL=1: AL=USR4(0)
1180 TB$="IXCVENMzxcvbnaasdfghjqwertyul234567 ' "+CHRS (34) +* #8748’ "
1150 COLORL:LINE(O,17)-(79,24),% * BF:COLORO

1160 CO%=50:DR%=1:RW%=159:60SUB3770

1170 FORIT4=2T06:C0%=50+(11%-1)$5:RW%=146: DR%=11%:B0SUBZ770: NEXTI1%: GOSUBS130
1180 LINE(0,0-(79,14)," * BF

1190 TFPEEK (&H&5CO) < >1 THEN1200ELSEPOKELHA5CO, 0:CH8="wrk-File": GOSUB1640
1200 *------ Get Command

1210 ONERRORGOTO14640



&L

1220 BEEP1:FORI%=1T070:NEXT:BEEPO:LOCATES, 1:PRINT"ready!'"

1230 LOCATES,3:LINEINFUT CM$:LINE(0,0)-(79,17)," ",BF

1240 A%=INSTR(CM$," "):IFA%=0THEN12S0ELSECH$=LEFT$(CM$,A%-1) +RIGHT$ (CH,LEN(CN$)-A%) :60T01240
1250 IF CM$="edit"THENBOSUR1670:60T01220

1260 IF CM$<>“new"THEN1ZBO

1270 TX$="NONAME":SL§="":K$="":K5$="":T4=""sRCU=0:ED%=1:BRY=0: BT=0:TN=0:60SURS130: GOTOIZ20
1280 IF MID$(CM$,1,4)(>"1ist" THEN 1380

1290 COLOR1:LINE(0,17)-(79,24)," " BF:COLORC

1300 GOSUB6700: IFCH$=""THEN 5B%=0:EK%=ED%:60701370

131G GOSUB&700:5B%=NU%: IFSBL>LEN{SL$)\Z-1THEN1A10

1320 IFCM$=""THENSAZ=5R%:60T01360

1330 GOSUB&700: IFSH$C:", "ANDSY$< "~ "THENLA1D

1340 IFCM$=""THENEK%=ED%:B0TO1370ELSEGOSURATO0

1350 IFCH${>""THEN1A1OELSESAL=NUL: IFSAZSRLORSAILEN (SLSI\2-1THENLA1O

1360 SA%=5A%+1:5WAPSAY, SEY:GOSUBS1S0:EKY=PRY: SHAPSAL, SR

1370 GOSUB 5150:G05UB 5180:60T0 1220

1380 IF MID$(CH$,1,5){>"save" +CHR${34) THEN 1410

1390 1%=LEN(CM$)-5:IF RIGHT$ (CM$,1)=CHR$ (241 THEN Xi=X%-1

140G IF X4=0 THEN 14610:ELSE CM$="2:"+MIL$ (CN$,4, %) :GOSUB1A20:60TO1220

1410 IF MID$(CM$,1,5)<>"1oad"+CHR$ (34) THEN1440

1420 X%=LEN(CM$)-5:IF RIGHTS(CM$,1)=CHRS (341 THEN X%i=X%-1

1430 IFX%=0THEN1610ELSECN$="2: "+NID$ (CHS, 6, X%) :GOSUBLA40:60TO1220

1440 IFNIDS$(CM$,1,4) <> copy ™ THENL44D

1450 BOSUBA990: IFXIL=0THENCT$="":60T0i220ELSEIFYI%=2THENLOCATES, {:PRINT"out of memory®:60TO1Z30ELSE]
610

1460 TFMID$ (CM$,1,6)<>"delete”THENI4B0

1470 GOSUB7200: IFX3X=0THENCT$="":G0TO1220ELSE1610

1480 IFCH${>"transpose”THEN1S00

1490 CM$="wrk-file":60SUE1620:A%=USR4{0) :RUN"transpas”

1500 IFCM$<>"medley"THENIS20

1510 CM$="wrk-file®:GOSUBLA20:RUN"medley"

1520 IFCM$<>"files®THENIS40

1530 AL=USR2(0):LOCATEQ,4:FILES2:CT$="":60T01220

1540 IFMID$ (CM$,1,6)<>"tempo="THEN1SA0

1550 GOSUB&700: IFCH$=""THENNP%=0:G0T01220ELSEMPY=VAL (CH$):B0TO1220

1560 IFCM$<>"title"THENT610

1570 LOCATES,0:COLOR4:PRINT "Title";:COLORO:FRINT® (0-254 characters)”

1580 LOCATEQ,2:PRINT®>":LOCATEL, Z:PRINTTX$:LOCATEL, Z: LINEINPUTCHS

1590 TFCM$<>"“THENTX$=CH$

1600 LINECO,0)-(79,7)," ", BF:60T01220

1610 BEEP:LOCATES,1:PRINT"invalid coamand®:60T01230

1620 OPENCN$FOROUTPUTAS#1: X%=1:PRINT#L, TX$:PRINT#1,EDL:PRINT#1,5L$: PRINTH1,MPY
1630 IFX%=EDATHENCLOSE:RETURNELSEPRINT#1, DA% (X¥X):X%=X%+1:60T01630

1640 OPENCH$FORINPUTASHL: X%=1:LINEINPUT#1, TX$: INPUT#1,EDY: INPUT#L, SL$: INPUTHL, HPY



1650 IFXZ=EDATHENCT$="":CLOSE:RETURNELSEINFUT#L, DAY (X%) : X%=X%+1:G0T01450
1660 BEEP:LOCATES, 1:PRINT"invalid comsand®:RESUNE1230

1870 ' -~=-—~ Edit

1680 IFCT$<>""THENI700ELSEIFLEN(SL$) {2THENSEY=0ELSESE%=LEN(SL$)\2-1

1690 GOSUBS150:EKY=ED%: GOSURS180

1700 PRINTCHR$(12)

1710 LOCATE40,21:PRINT"Duration®:LOCATES, 17:PRINT*Bar count = *;SBY

1720 BT=0:PD%=FRYL: IFPRA=EDLTHEN1740

173G FS%=1:ET7=PD%: SWAPETZ,ED%: SX$=RIGHT (SL$,LEN(SL$) -245RY) : SL4=LEFT$ (5%, 2%XSE%)
1740 IFED%=1THENGOSUB4600

1750 LOCATES,23:PRINT®Sound{1-7)  Tie (5,E} Dot(D} Accidental {F,5,N)"
1760 BN%=0:CR%=51:LOCATECRY,Z1:COLORZ:PRINT*F*;:COLDRO

1770 BEEP1:FORI%=4T0S: NEXT: BEEPO: SH%=0: G0SUB 2050: IFSW1=0THEN1840
1780 IFSWL=2THEN1770

1790 IFSHLS 5 3ANDSNLL >ATHENLB30

1800 U1%=PRYsU2%=SRY: FRY=PDY-LEN(CTS) : IFSWL=3THENPRY=PRY+1

{810 IFPRYLCITHENPRE=1

1820 EK1=PD%:BOSUBS180: PRY=U1%: SBX=UZ: LOCATEL7, 17: PRINTSEY; : BOSUBS440: 60701770
1830 GOSUBS440: IFNOT (TF%=20RFY%=1) THEN1770

1840 BOSUBAS10: TN=TN+DTASHL: IFTN=TLTHENF V%=0: TH=0

1850 GOTOI770

1860 TFVLYC > 176THEN1900

1876 IFPRY=PDYTHEN1BBOELSERRY=PRY#! : IFDAZ (PRY-1)=0THENSEZ=5B%+1: GOTO1B70ELSE 1870
1880 IFFS%=1THENFS%=0: SWAPEDY, ETY: SLE=5L4+51¢

1896 RCh=0: TN=0:FY%=0: RETURN

1900 GOSUBAS10:BT=BT+DT: IFTFL=0THEN1940

1910 TC=TC+DT: IFEF2< > 2THENTN=TNADT

1920 IFTC=TLTHENTF%=0:TC=0:PF4=0: TPY=0: LINE (40,191 - (79,19),* *

1930 IFTN=TLTHENTN=0

1940 GOSUBS040: IFEF%=0THENGOSUB3330: 60T01970

1950 Ul%=PR%:U24=58%: PRL=FD1-LEN(CT$) : IFEF1=3THENPRE=PRY-1

1960 EF%=0:EK%=PD%: BOSUBS1B0: PRY=U1%: SB4=U2%: LOCATEL7, 17: PRINTSEY;

1970 IFBTCBLTHEN2040ELSE IFLEN(SL$) \2)SBLTHEN19B0ELSE2000

1980 CH$=STRS (RC%) :CH$=RIGHTS (CNS,LENICNS)-1)

1990 MID$(SL$,288B1+1,2)=RIGHTS (*00° +CH$, 2) : 60TO2040

2000 SB%=5B%+1:BT=0:LOCATE 17,17:FRINT SBL;:PRI=EDY

2010 TN=0:NT%=0:G0SUBS060: G0SUB3330

2020 CN$=5TRS (RCY) :CH$=RIGHTS (CH$, LEN (CN$)-1) :SLS=SL$+RIGHTS (*00"+CN$, 2) :RCY=0
2030 TFLEN(SL$) >252THENBEEP: LOCATES, 1:PRINT"out of memory ! do SAVE and NEW*
2040 NT1=DAZ (FRY) : G0SUBS440: 60T01770

2060 IFBN%=0THENZ0BO
2070 ON BNZ GOTO 2220,2330,2430,2530
2080 AC%=0:D0%=0:SR%=0

T8



79

2090 LDCATES,23:COLOR4:PRINT"Sound® ; : COLORO: LOCATEG, 24: PRINT" gl

2100 GOSUBZ590: IFVLYL=176THEN RETURN

2110 IFVLUC220RPR%=EDLTHENZ {30

2120 IFDAL(PRY)=0THENDAY (PR%) =41 5W%=4: RETURNELSEIFDAY (FRY) =ATHENDAYL (PRY) =0: SW%=4: RETURN
2130 TFVLXA=J2THENLOCATES, 23: PRINT"Sound®: LOCATES, Z4: PRINT "rest *; : PT%=0: GOT02330

2140 XE=INSTR(TBS$,V$): IFX%=0THENLOCATES, {:PRINT invalid input”;:B0TO2210

2150 Yi=YUMOD7: IFYYi=0THENYY=7

2160 IFK${:"t"THEN21B0

2170 PTA=X%-5: IFPTE{IORPTE> 31 THENZ200ELSEZ190

2180 PTA=X%i:IFFTYL>31THENZ200

2190 LOCATES,Z3:PRINT"Sound": LOCATE7, 24: PRINTMIDS ("COEFGAR®, Y%, 1) ;160702220

2206 LOCATES,1:PRINT"note out of range®;

2210 BEEP:FF%=1:607020%0

222 SR%=0:LOCATEL9, 24:PRINT® *;:LOCATELS, 23:COLOR4: PRINT Tie *;:COLORO:BGSUB2590: IFVLY=17ATHENRETUR
N

2230 IFVLE=101THENSRY=2: 60102320

2280 TFVLI=A9THENSR%=3:60702320

2250 IFVLY=113THENSR%=1:G0T0 7320

2260 IFVLI=32THENZ3Z0

2270 IFVLZ=4BTHENLOCATELR, 23:PRINT*Tie “:RQTOZ090

2280 IFNOT(VLE=130RVLY=18) THENLOCATES, 1:PRINT"invalid input®;:B0T02310

2290 GOSUBSTS0: IFEFY=1THENZ3 LG

2300 LOCATEI8,Z3:PRINT"Tie *:6OTO 2570

2310 FFX=1:BEEF:50T02220

2320 LOCATE18,Z3:PRINT"Tie “:LOCATELY,24:PRINT Vs;

2330 DO%=0:LOCATEIL, 24:PRINT™ *;:LOCATE3G, 23: COLOR4: PRINT® Dot ® ; : COLORO: GOSUEZ590: IFVLY=174THENRETURN
2340 IFVLY=48THENLOCATE30, 23: PRINT Dot *: IFFT4=0THEN209QELSE 2220

2350 IFNOTVLY=130RVLZ=1B) THENZ380

2360 GOSUBSTS0: IFEFL=1THEN2420

2370 LOCATE30,Z3:PRINT* Dot *:6OTOZE70

2380 IFVLY=32THENDO%=0:LOCATEI0, Z3:PRINT Dot *: 50702430

2390 IFVLEC>100THENLOCATES, 1:PRINT®invalid input®;:B60T02420

2800 IFCR%=76THENLOCATES, 1:FRINT"ssallest duration have nc dot";:60702420

2410 DO%=1:LOCATE30,23:PRINT* Dot *:LOCATE3L, 24: PRINTVS; : 60T02430

2420 FF%=1:BEEF:BOTO 2330

2430 LOCATEAS, 24:FRINT® *;:ACY%=0:LOCATE3Y,23: COLOR4: PRINT"Accidental ®; s COLORO: GOSUBZS90: IFVLY=174THE
NRETURN '
2440 IFVLZ=10ZTHENAC%=1:60T02510

2450 IFVLZ=115THENAC%=2:60T02510

2460 TFVLY=110THENAC%=3:60702510

2470 TFVL%=4BTHENLOCATEQ, Z3: PRINT*Accidental ®;: 60702330

2480 IFNOT(VLX=130RVL%=320RVL%=18) THENLOCATES, {:PRINT*invalid input®;:60702520

2490 BOSUBS750: IFEFY=1THEN2520

2500 LOCATE39,Z3:FRINT*Accidental *:60702570



80

2510 LOCATEI9, 23:FRINT"Accidental *;:LOCATEAS, 24: FRINTVS; : 60T02530

2520 FF%=1:BEEP:BOTDZ430

30 GOSUB2590: IFVLL=174THENRETURN

40 TFVLY=4BTHENZ430

) IFNOT(VL%=130RVLY=18) THENBEEP:FF1=1:LOCATES, {:PRINT"press RETURN or 0 only*;:B0702530
60 GOSURS750: IFEFY=1THENBEEP:FF%=1:60T02530

70 IFPTA>=14THENPTY=FT%-16:NT%=4HB000: ELSE NTi=0

380 NTZ=NTZOR(FTZ#(2*11)) ORACZOR (DOX%(210) ) OR(SRY% (2*8) ) OR(TP%E4)OR (DR%4{2°5) ) s RETURN
990: tomzone Keyboard

2500 GOSUBSY70:LOCATECUL, 9: VE=INFUTS {1):VLE=ASC(V)

2610 IFVLZ=176ANDBT(}OANDBTi}BLTHENLGCATES,I:FRINT'cnnplete bar before go out®;:G0T03{40
2620 IFFF%=1THENFFY4=0:LINE(S,1)-(60,13,* ® BF

2630 IFVLZC520STHEN2680

2b80 LOCATEA2,0:PRINT Clef “:LOCATEGZ, Z:PRINT "Teapa 2

2650 LOCATESZ, 1:PRINT"Key sign. =  *:LOCATE&2,Z:PRINT"Time sign, = i

2660 LOCATETS,0:PRINTKS:LOCATETS, 1+ PRINTKSS: LOCATETS, 2: FRINTT$: LOCATETS, 3: FRINTHPE

2670 YA=INF(9): IFX%=247THENZATOELSELINE (62,01-(78,3)," ¥, BF:B0TOZ600

2680 IFTFL{:3THENZTA0

2690 IFVLEC1ITHENZ740

270G TN=DR¥:TC=D0%:DO%=0:DR%=(CR%-50) \5+1: BOSUB4S10: TPE=DRY: DR%=TN: DOL=TC: TC=0; TN=(

2710 TFBT+DT>BLTHENLOCATES, 1:PRINT*triplet group is too big for this bar®;:G0T03140

2720 IFCRXA=7STHENLOCATES, 1:PRINT triplet group duration is unexceptable®;:BOT03140

2730 TL=DT+DT/2:TF4=2:BT=RT-DT/2: BEEF1:FORIZ=1T040: NEXT: BEEPO: LOCATE40, 19: FRINT"triplet*: 50T02600
2740 TFVLECS4BTHEN3 18O

2750 TFY=0:TPY%=0:LINE(40,19)-(79,191," ":G60T0ZA00

2760 TFNOT(VL%=Z0ANDTF%=0) THENZ790

2770 TF%=3:L0OCATE40, 19:COLOR4:PRINT triplet *:COLORD

2780 COLOR4:LGCATECRY, 19:PRINT*%": COLORC:6OTOZA00

2790 IFVL%=BTHENGOSUB&BIC: IFVLY=176THENSHY=3; RETURNELSES 160
2800 IFVLYCSZBTHEN2960

2810 IFPRA=PDLTHEN3140

2820 IFTN=TCANDTFYL>OTHENZISOELSESWY=1

2830 IFDAY(PRY)<>OANDDAL (FRY) {4THEN2900

2840 IFNOT({BT=0)0R(BT=BL)) THENSWY=0:G0T03130

2850 SBi=5BX+1:LUCATEL7,17:PRINTSEY :
2850 IFPDASOPRYU+ITHENRCE=VAL (MID$ (SL$,Z48B%+1,2) ) :BT=BL:6OTO2900
2870 BT=0:RC¥%=0: IFPDXL=EDZTHEN3100

2880 FS1=1:ETY=FD%:SWAPETYZ,EDX:SX$=RIGHTS (SL$,LEN(SLS)-245R%)
2890 SL$=LEFT$(5L$,2%58%):60T03100

2900 NT1=DAX (PRX+1): X1%= (NTXANDYHEQ) \ (25) : IFX1%< J0THEN2940

2910 X1%=NTZAND3: IFX1%<>1THEN3 100

2920 PR%=PRY+1:605UB4500: 60SUBASA0: GOSUBAE30: PRY=FRY-1

2930 IFDA%(FRY)=00RDAY (PR%)=4THENET=BL

2940 NT%=DAZ(FR): IFNOT( ((NTXANDEHEQ) \32¢>0) AND ( (NTLANDEHIC) \4<30) ) THEN3100

L=
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2950 FY1=1:IFTN<}0THEN3100ELSEXIZ=(NTZAND&H]E)\4:SNAPDRZ,XIZ:DOZ=O:GDSUB4510:TL=DT+DT/2:SHAPDR1,XIZ:
BOTO3100 :
2960 IFVLZCY29THEN3L70

2970 IF(FDYL-PRL)=LEN(CT$) THENZ140

2980 IFTH=0ANDTF%>0THEN31S0ELSESHY,=-1

2990 IFDA%(FR%-1)<>0ANDDAZ(FRY-1) ¢ }4THEN3030

3000 IFNOT((BT=0)0R (BT=BL) ) THENSWY=0:60T03130

3010 5BA=5BX-1:LOCATELT,17:PRINTSBYL:RCA=VAL (MID$ (SL$, Z45R%+1,2) ) 1 BT=EL

3020 IFFSE=1THENFSY=0: SWAPEDY,ET7: SL$=5L$+51%

3030 NTA=DAL(PRY): X1%=(NTXANDYHED) \ (245) : IFX1E<0THENZG70

3040 X1T=NTZANDI: IFX1%< 21 THEN3GT0

3050 PRE=PRY-1:B05UBAS00: GOSUBLSA0: GOSUBAAT0: PRY=FRY+1

3080 TFDAZ(PRY-1)=00RDAL (PRY) =4 THENET=BL

3070 NTZ=DAZ(PRL-1): IFNOT ( ( (NTZANDEHED) \32¢ 501 AND{ (NTLANDEHIC) \4< 300 ) THENZO9G
1089 FYZ=1:IFTN{}OTHENSIOOELSEXIZ=(NTZéNﬁ&HlC)\4:SHéPDRZ,XIZ:DOZ=O:EGSUB4510:TL=DT+DT/2:SHRPDRZ,X11:
TN=TL:BOTOZ100

3090 IFFYZ=1THENFYi=0

3100 PRE=PRYU+5¥L:NTZ=DAY (PRI

3110 IFPRE=EDXTHENNT%=0

3120 VLE=174:RETURN

3130 LOCATES, 1:PRINT*coaplete bar before move to next"; 607031460

3140 LOCATES, L:PRINT"reach at Iimit";:G60T03160

3130 LOCATES, 1:FRINT"complete triplet group before sove to next";

3160 BEEP:FF%=1:60702600

3170 TFVLE=11THENBOSUBA400: VLE=176: SKY=2: RETURN

3180 IFVLECS4ATHEN3230

3190 IFTFY=JTHENLINE(CRY,191-(CR%,191," *

3200 LINE(CRY,21)-{CR%,21),* *:CR%=CR%+5

3210 IF CRI>76 THEN CRY=S

3220 GOTOIILG

G TFV$<:"p"THEN3270

0 LOCATES, 0:COLORA: PRINT*TITLE®: COLORD

3250 LOCATEQ,2:PRINT">*; TX$

3260 VLE=INP(4): IFVLYUCO2S4THENLINE (0,0)-(78,6),* " BF:G0TO2600ELSE3Z40

3270 TFVLYEC>44THENRETURN

3280 IFTFE=3THENLINE(CRX,19)-(CR%,19)," *

3290 LINE(CRY,21)-(CR%,21),® *:CR%=CRY-5

3300 IF CRA<S1 THEN CR%=76

10 IFTFZ=3THENCOLOR4: LOCATECRY, 19: PRINT*Y": COLORO

3320 COLORZ:LINE(CR%,21)-(CR%,21),*P*:COLORO: 6OTD 2600

3330 *==meme Interpret

3340 DRY= (NTXANDEHEQ)\ (2%5): IF DR1CM0 THEN 3490
3350 AC%=NTZAND3I

3360 IF ACL<X0 THEN 3390
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3370 BU%=3:DP%=1:CPY=1:RW%=40:605URB4180: GOSUBLOZ0

3380 IFNTZ=4THENBR%=YHb593:A%=USR3(0) : RETURNELSEBR%=YHbA4E : A%=USRI(0) :RETURN
3390 IF ACX<»1 THEN 3420

3400 DOZ%=(NTZAND4) \4: IFDO%=0THENK$="t":LT%=2:HT%=b: OCA=4ELSEK$="b":LTL=1:HT%=5: 0C%=3
3410 BUX=7:DP%=1:CP1=2:60SUB4180: 6OSUB3I740: LOCATE?S, G:RETURN

3420 IF ACK(YZ THEN 2460

3430 ACL=(NTZAND12)\4: IFACY=3THENKS$="n": BUL=2:DP%=0:CP%=1:B60SUBA4180: 6OTO3450
3480 NY%=(NTLAND&H700)\ (2°B) :K5$=5TR$ (N%) : GOSUBAZ90

3450 RETURN

3460 Y%= (NTLANDEHF000)\ (2°12) s Y%= (NTZANDYHF00) \ (2*8) s BL=X1/Y%

3470 T$=MID$ (TAS, X%, 1)+*/"+NID$ (TAS, YL, 1)

© 3480 BU%=B:DP%=2:CP%=3:60SUB4180: GOSUBIBS0: RETURN

3490 DPL=(NTZANDEHIC) \4: IF (@P%=0)OR(BPU=HY) THENIG20

3500 CN%=DR%:DR%=BP%:D0%=0:G0SUBAS10: DRY=CNX:LM=DT+0T/2: DC=0: HE=0FL: INL=0
3510 IFJF%=1THENP%=FRLELSEPL=FRY-1

3520 IFEPL{OHATHENHL=0:GF%=0

3530 FT1=(NTZANDEH7B00)\(2*11)s1F NT%{0 THEN FTA=PTZORLH10

3540 DO%=(NTLANDLHAOO) \ (2#10] :5RY%= (NTZANDEH300)\ (2°8)

3550 IFPTY{>OTHENISIOELSEGDSUBS300: GOSUR4180: BOSUBA030

3960 IFDOUCPITHENITLO

1570 COY=CO%+2:RWL=49:BQ%=4HAS73: IFDRELITHENCOE=CO0%+!

3580 GOSURA020:A%=USR3(0):80T0I710

1590 RW%=BASE%-(PT%-1)13:60SUBSIT0

3500 IFDRY%=1THENRWY=RW%-2ELSEIFPT%> 1ATHENRWL=RWY-2ELSERWL=RWZ-13

2610 ACY=NTZAND3: IF ACZ=0 THEN 3630

3620 BUL=BU%+2:CPY%=CP%+2: GOSUR 4180

3630 CL1=CO%:RLL=RW%: IFDRY=1THENRWYL=RRY-6ELSEIFPTY> 1 ATHENRWL=RWY-GELSERWL=RWL+7
3640 GOSUB3970:C0%=CLY+Z:RWL=RLYL:6OTO 3660

3650 GOSUR 4180:51%=C0%:52%=R

3660 GOSUBAI00:CL%=CO%:RLY=RWY:BOSUBZ770

3470 IF DOYCZITHENIT10

3680 IFPTZ>14THENRRYL=RWA+1ELSERWY=RWL+14

3690 IF (PTL>16ANDDR%=4)DR (PT%(=16ANDDRY=5) THENBGY=kHb6573: ELSEERL=LHE5T0
3700 C0%=C0%+2:605URAG20: A%=USR3 ()

3710 IFHL=0THEN3740ELSECN%=CN%+1:B0SUR4510:DC=DC+DT: IFDC>LMTHENI740

3720 IFJF%=1THENT1%=PRAELSET1%=PR%-1

3730 BOSUBA370:P%=0:H%=0

3740 IF SRZ<2 THEN RETURN

3750 IFJF%=1THENT1%=FRAELSET1%=FR%-1

3760 BOSUB140:RETURN

3780 IFDR%=1THENBGZ=%Hb1BC:G0T0O3BA40
3790 IFDR%=2THENIFPTY>16THENBRY=kH60EL: GOTOIBA0ELSEBRY=kHb23D: 6OTO3B40
3800 IFDR%=3THENIFPTY)146THENBQY=4HA120: G0TOIB40EL SEBAY=LH52CT: BOTOIBA0



3810
3820
1830
3840

3850 °

3860
3870
3880
3890
3500
3910
3920
3930

3940 7

3550
3960
3970
3980
1990
4600

83

IFDR%=4THENTFFT% > 14 THENBQY=4Hb15A: G0TO3B40ELSEBR%=kH6277: 6OTO3BAC
IFDR%=STHENIFPTZ 16 THENBQY=4H6182: 60TO3IB40ELSERA%=EH62FD: GOTOIBA0
IFDR%=ATHENIFFT%> 16 THENBRY=4HAZ 71 : ELSEBRY=4HE3TT

GGSUBA020: A%=USR3(0) : RETURN

------ Time-sign.
CL1=CO%:RWL=RGL-11:C4=MID$(T%,1,1): GOSUBIBAG: BOSUBLOZ0: AE=USRI(0)
C0%=CLY%:RWL=RE%+1:C$=M1D$(T$,3,1):6OSUB 3880:6OSURG0Z0:AL=USRI(0) :RETURN
[FC$="2"THENBRZ=LHA4E]: RETURN :
IFC$="3"THENBRL=YHA40A: RETURN

IFC$="4"THENBG%=4HA0CC: RETURN

IFC$="3"THENE@%=4HA223: RETURN

IFC$="5"THENER%=4HA4BE: RETURN

IFC$="8"THENRQL=%Hb4FB: RETURN

TFK$="t"THENEQZ=kH&000: RW1=SBELSERR%=YHA1CF : RHI=41
GOSUBL0Z0: A%=USR3(0) :RETURN

Nompn=2 fAccidental

(NACYLGOTD3990,4000,4010
RO%=KHE0AE : RWL=RWI-1: 6070402

BO%=LHAIDC: RWY%=RWY+2: GOTO40Z0

4010 BE%=YHEIFA:RWL=RHL+2

40620

4030 °

3040
4050
4060
4070
4080
4090
4100
4110
4120

BOSUBAG20: A%=USRI(0) : RETURN

IFDR%=1THENBRY=4HAIAR: RRY%=67:60TOA100
IFDR%=2THENBRY=kHA3AB: RW%=67: 60704100
IFDR%=JTHENEQY=kHA4AC: RW¥%=63:GOTD4100
IFDR%=4THENER%=4H4IBB: RWY=04: GOTOA100
IFDR%=STHENBRY=4HA426: RRY=64:60TO4100
IFDRY%=4THENERY=4Ho44A: RRWL=64
50SUBA020: A%=USRI(0) : RETURN

FOKE ¥HEESE,LY

4130 FOR 1%=RB%-12 TO RG%+12 STEP &

4140

§T=5C+kHBO00+45536" +BOS1% :5T$=HEX$ (ST)

4150 ST=VAL(*Yh*+MID$(5T$,1,2)):POKE YHEESE,ST

4160

ST=VAL (*kh*+MID$ (5T%,3,2i) :POKE LHEESS,ST

4170 A=USRO{0) :NEXT:RETURN

4180
4190
4200

3

------ CRT-managesent
IFBU%=>LELTHENA250
LB%=LBL-BUL

4210 CT$=CTS+HEX$ (BUZ)

4220

IFRF%=0THENPS$=PS$+MID$ (TAS,CP%, 1)

4230 CO%=LET+DPY:LE%=LE%+BUY

4240

RETURN



4250 NBZ=VAL ("Xh"+LEFT$(CT$,1))
4260 LBA=LBYA+NBL:LEX=LEX-VAL ("kh"+LEFT$(CT$,1))
4270 CT$=RIGHT$(CT$,LEN(CT$)-1)
4280 PS$=RIGHT$ (PS$,LEN(FS$)-1)
4290 POKE YHEEYS,NB%:A=USR1(0):B0T04190
i e et Leger Line
4310 CL%=RG6%: IFNOTFTZ>21THEN4340
4320 IFPTAMOD2=0THENRBZ=RW%+14ELSERGY=RWYL+17
4330 BOTO4370
4340 IFNOTPTYACLITHENA3BO
4350 IFPTAMOD2=0THENRG%=RWY+3ELSERGY=RW?,
4360 IFDRY%=1THENRG%=R6%-13
4370 5C=C0%:L%=2:50SUR4110
4380 RGX=CLZ:RETURN
A0 Key-sign.
4400 "parameters are n,no. of acc and ac,type of acc
4410 CPY%=1: IFK$="t"THENINZ=0ELSEIN%=4
4420 IFACK=1THENRESTORE4490:KS$=K5$+" § "ELSERESTOREAS00: KS$=K58+ 5"
4430 FORI%=1TON%:READCE:NNYL(I11)=C%:NEXT
4440 BUX=NZ$2:CPY=RUY\Z:DP1=0: GOSUR4180:87%=C0%
4450 FORI%=1TONY
8460 RW/=RGL+NNZL(I%)+IN%-8:C0%=57%
4470 GOSUB3970:57%=51%+2
4480 NEXT:RETURN
4430 DATA 0,-9,3,-6,6,-3
4500 DATA -12,-3,-15,-6,3,-9
4510 Trmreon Duration
4320 IF DR%=1 THEN DT=1:B60TD 4580
4530 IF DR%=2 THEN DT=.5:60T0 4580
4340 IF DR%=3 THEN DT=.25:6070 4580
4350 IF DR%=4 THEN DT=,125:6070 4580
4360 IF DR%=3 THEN DT=.0425:60T0 4580
4570 IF DR%=6 THEN DT=,03125
4580 IF DO%=1 THEN DT=DT+DT/2
4390 RETURN
4600 *------ Get Key
4610 LINE(0,23)-(75,24)," *,BF
4620 BOSUBS050:LOCATE14,19:COLOR4:PRINT*Clef";:COLORO:FRINT*(T/B) =
4630 LOCATE26, 19:V$=INPUT$ (1) IFV$<O"0"THEN4 b0
4640 IFED%=1THENBEEP:G0T04430ELSEU1%=PRY: U2%=5R%:PRL=PDL-LEN(CT$}
4630 EK%=PD1:60SUB5180: PR%=U1%: SBY=U2%:LOCATE17, 17: FRINTSEY; : 60705030
4660 TFV$="t"THENKF?%=1: 6OTO4680
4670 iFV$='b‘THENKF1=5:EDTD4680ELSEBEEP:SDT04630
4680 LOCATEL4,19:PRINT"Clef (T/B) = *;V$:NT%=KF%:B0SUB3330

8k



4690 IFBT<>0THENA740

4700 GOSUES050:LOCATES,21:COLORA:PRINT Key-sign.";:COLORO: PRINT" (N/nF/nS) = *;
4710 KE%=2:LOCATEZA,21:V$=INPUTS (1) : IFV$<>"0"THEN4T40

4720 LOCATES,21:PRINTSTRING$(22," *):U1%=PR%:U2%=5B%:PRY=FDL-LEN(CT$) +1
4730 EK%=FDY:G60SUBS180: PR%=U1%:5B%=U2%:LOCATEL7,17: PRINTSEY; : 60T04620
4740 IFV$="n"THENKEX=KEXOR12:N%=0:G60T04810
- 4730 IFASC(V$)<>13THENA770ELSEIFEDY=1THENBEEP: GOTO4710

4760 NT7=KF1:60SUBS060:60T05030

4770 NL=INSTR(*123436" ,V$) : IFN4=0THENBEEP: 60T04710ELSELOCATE2S, 21 FRINTVS
4780 LOCATE27,21:V$=INPUTS (1} :IFV$="0"THENLOCATE26,21:PRINT" *:60T04710
4790 1FV$="+"THENKEL=KEZOR4:GOT04810

4800 IFV$="5"THENKE%=KELORS:60T04810ELSEREER: BOTO47R0

4810 LOCATES, 21:PRINT"Key-sign. *:LOCATE27,21:PRINTVS

4820 KEN=KELORN%2Z54:NTY=KE%:B0SURBIZI0

4830 GOSUBS050:LOCATES, 23: COLOR4: PRINT Time-sign. "; sCOLORO:PRINT® (n/a) = *
4540 LOCATEZ6,23:V$=INPUT$ (1) : IFV$< > 0" THEN4BEO

4850 LOCATEB,23:FRINTSTRINGS (20,* *):Ul%=PRY:U2%=5R%:PRY=FLIE-LEN(CTS) +2
4860 EK7=PDX:B0SUBS180:PRY=U1%:SBA=U2%:LOCATEL7,17: PRINTSRY;

4870 NT%=KF¥:60SUB3320:LOCATEZ6, 21 PRINT®  ":G0T04700

4880 NL=INSTR(*234558",V$): IFN{=0THENREEP:GOTO4R40

4890 LOCATEZA,23:PRINTVS: X%=VAL (MID$ ("234568* N1, 1))

4900 LOCATE27,23:V$=INPUTS(1}: IFV$="0"THENLOCATEZ¢, 23:FRINT" *:G60T04B4C
4310 IFV$<3™/"THENBEEF:GOTOA900ELSELOCATEZ7, 23: PRINTVS

4920 LOCATE28,23:V$=INPUTS (1) : IFV$="0"THENLOCATEZ6, 23: FRINT"  *:GOTO4B40
4930 1FV$="4"ANDX%<>6ANDYL{ >BTHENYZ=4:60TD4950

4940 IFV$="B"AND(X%=30RX%=6) THENYZ=8:G0T04950ELSEREEP: BOTO4920

4930 LOCATER,23:PRINT"Time-sign.":LOCATE28, 23:PRINTVS;

4960 TML=30R(X%84096) DR (YL$256) :NTL=TH%: 6OSUB3II30

4970 GOSUBSOS0:VE=INFUTS (1) IFV$< 0" THENSO10

4980 LOCATES, Z3:PRINTSTRINGS (22,% ") sUl%=PRY:UZ%=5R%: FRE=FDL-LEN(CTS) +3
4990 EK1=PDY:G0SUBS180:PRY=U1%:SB%=U2%:LOCATEL7,17: PRINTSEY;

5000 NTZ=KF%:B60SUB3330:NT%=KE%: G0SUB3330: 60T04830

5010 IFASC{V$)<>13THENBEEF:G0T04970

5020 NT%=KF%:B0SUBS0&0:NT%=KEY: GOSUBS060: NTL=THY: ROSUBS040

5030 LINE(5,19)-(30,23)," *,BF:LOCATES,23

3040 PRINT"Sound(1-7) Tie(5,E)  Dot(D) Accidental (F,5,N)*:RETURN
5050 BEEF1:FORIZ=1T05:NEXT:BEEFO:RETURN

9060 " ~~m=-x Write Data

3070 IFFS%=1THENXX1=ETXELSEXX%=EDY

3080 IF(EF%=3)0R(EF%=0ANDFS¥=1) THENFORI%=XX1TOPRYSTEP-1:DA%(1%)=DAL(1%-1) : NEXT
3090 DAZ(PRYL)=NT%: IFEF%=2THENS{10

5100 EDZ=ED%+1:RC%=RCY+1:PR%=PRY+1:PDY%=PDL+1:ETh=ETL+1

5110 IFEDZ%>990THENBEEP:LOCATES, 1:FRINT out of meaory ! do SAVE and NEW®
3120 RETURN
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al30 Fecmmsny Clear
3140 H%=0:C0%=0:CT4="":PS$="":LBY%=B0:LEL=0: DF%=1:C1%=0:RETURN
3190 2 =-==c= Bar Locate
3160 IF SB%=0 THEN PR%=1:RETURN
3170 PRA=0:FORI%=0TOSBL-1:PRE=PRY+VAL (NID$ (SL$, 281%+1,2)) sNEXT:PRL=PRY+1: RETURN
21807 ==—=e List
5190 JF%=1:LF%=0:A=USR2(0) :L%=80:5C=0:605UR4110: 60SUBS130: LOCATES, 17:FRINT *bar count = "3 5B
3200 IFPRZC>ITHENBDSUBAS00: GOSUBLSA0: BOSUBLA30
3210 TFPR%=EKATHENS290ELSENTZ=DA% (FRY) : G0SUB3330: FRL=PRL+1
3220 IFNOT(DR%=0ANDAC%=0) THENIFLF%< >2THENS240ELSESZ10
3230 SRU=SBA+1:LOCATEL7,17:PRINTSEY: IFLF1=2THEN5290
3240 CH$=INKEY$:IFCM$=""THENS210
3250 IFASC(CM$)=176THENLFZ=2:LOCATES,0:PRINT"break at bar®;SBY;:REEP:60T05210
3260 IFASC(CM$) {332THENS210
270 IFLF%=1THENLF%=0:60T05210: ELSEREEF
280 CM$=INKEY$:IFCM$=""THENS280:ELSELF%=1:B0T05250
290 JF%=0:RETURN
SO0 ro—arsy Byte of Rest
310 TFDRZ=1THENBU%=9:DP%=3:CP1=4
3320 IFDR%=2THENBU%=7:DP%=2:CP%=3
3330 IFDR%=3THENBU%=5:DPi=1:CP%=2
5340 IFDR%=4THENBU%=4:DP%=1:CP%=2
3350 IF DR%>4 THEN BU%=3:DP%=0:CP%=1
5360 RETURN
DY == Byte of Note
3380 IFDR%=1THENBU%=9:DP%=3:CF%=4
3390 IFDR%=2THENBU%=7:DP%=2:CPY=3
5400 IFDR%=3THENBUZ=5:DP%=1:CP%=2
3410 TFDRE=4THENBUYL=4:DP%=0:CP%=1: IFPTL>14THENDPY=1
3420 IFDR%>4THENBUZ=3:DP%=0:CPY=1
3430 RETURN
3440 7 ---mm- Display Data
3430 LOCATES,23:PRINT"Sound(1-7)  Tie (§,E) Dot(D)  Accidental (F,5,N)®
3460 LINE(O,24)-(75,24)," "*:BN%=0: IFNTZ=0THENS490
3470 IFPRZ=EDATHENRETURN
. 9480 DR%=(NTZANDLHEO) \ (2*5) : IFDRYC OTHENSS20
3490 IFPFZ=0THENRETURN
3500 IFTFA=0THENLINE(40,19)-(79,19),* *
3510 PFX%=0:RETURN
3520 LINE(CR%,21)-(CR%,21),* *:CR%={DR%-1)45+51
3330 COLORZ:LINE(CR%,21)-(CR%,21), *P*:COLORO

3940 Y%= (NTLANDEHIC) \4: IFY%=PF1THENSS90
5330 IFTFZ=0THENLINE(40,19)-(79,19)," *
3560 PFA=Y%: IFYZ=0THENS590
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3570 X4=(Y%-1)#5451:COLOR4:LOCATEXY, 19: PRINT %" : COLORO

3580 LOCATE40,19:PRINT*triplet"

3390 PTL=(NTZAND&H7B00)\(2*11):IF NT%{0 THEN PTL=PTZOR&H10
5600 IFPTX=0THENLOCATEG, 24:PRINT rest";:BN%=2:60T05640
5610 IFK$="t"THENXZ=PTL+SELSEX1=PTY

3620 Y1=XZMOD7: IFYZ=CTHENYZ%=7

3630 LOCATE?,24:PRINTHIDS (*CDEFGAB®, Y%, 1) ;: BNi=1

5640 DO%=(NTZAND&HA00)\ (2*10) : SRY=(NTLANDLH300)\ (248)

3630 IFSR%=0THENS690ELSERNY=2

3660 IFSR%=1THENLOCATEL9, 24:PRINT"s";:60T054690

3670 IFSR%=ZTHENLOCATE19,24:PRINT 2" ;:60T05490

3680 IFSRY=3THENLOCATEL9,24:PRINT'E";

3690 IFDO%COTHENLOCATESL, 24: FRINT d*; :BNY=]

5700 ACA=NTZAND3: IFACYL=0THENS740ELSEBNY=4

3710 IFAC%=1THENLOCATEAS, 24:PRINT*$*;: 60705740 BN ’hﬁsin
§720 IFACY=2THENLOCATEAS, 24: PRINT "s* ;360705740 Qu‘
5730 IFAC%=3THENLOCATEAS, 24:PRINT n"; 160705740

5740 RETURN

afal f==a%s Beat Check

3760 'eti=0,add data/eti=1,error/ef1=2,redisplay/ef1=3,shit datakredisplay

5770 EF%=0:DR%=(CR%-50)\5+1:GOSUR4S10

3780 IFPR%{SEDLTHENSB20

3790 IFVLA=18THENEF%=1:LOCATES, 1:FRINT*invalid input®; :RETURN

9800 IFTF4=0THENSB10ELSEIFTC+DT)TLTHENEFY=1: LOCATES, 1: PRINT"duration is too big for triplet group';:
RETURNELSERETURN

3810 IFBT+DT>BLTHENSIA0ELSERETLRN

3820 IFVLZ{1BTHENSB8B0

3830 XZ=(DAX(PRY) ANDYHEO) \ (2%5) : IF X% >0THENSES0

3840 K%=DAX (PRX)AND3: IFX%<>OTHENEF 2=1: LOCATES, 1:FRINT*canncot insert before this data”; :RETURN

3850 IFTFZ=0THEN586OELSEIFTC+DT}TLTHENEFZ=1:LUCATES,I:PRINT'duration is too big for triplet group®;:
RETURNELSEEF%=3:RETURN

3860 IFTN>OTHENEF%=1:LOCATES, 1:PRINT"cannot insert in complete triplet group®:RETURN

5870 IFBT+DT>BLTHENS9A0ELSEEF%=3: RETURN

3880 X11=D0%:X2%=DR%: X31=TPY: X4%=NT¥: X5=DT

3890 NTZ=DAX(PRY) : DR%=(NTZANDKHED) \ (2*5) : IFDRY{ S0THENS910

3900 EF¥=1:LOCATES, 1:PRINT"this data cannot be substituted”;:RETURN

3910 TPY=(NTZANDEHIC) \4:D0%= (NTZANDXH400) \ (2*10) : 6OSUBAS10: IFTFL=0THENS930

5920 IFTC-DT+XS)TLTHENEF%=1:LOCATES, 1:PRINT*duration is too big for triplet group®;:RETURNELSEEF%=2:
TC=TC-DT:ET=BT-DT: 60705950

5930 IFTP%=0THENS940ELSEIFXS>DTTHENS9SOELSETC=TL: X34=TP%: TF1=2:60T05920

5940 IFBT-DT+X5=¢BLTHENEF%=2: BT=BT-DT

3950 DOZ=X11=DR1=X21:TPZ=X31:NT1=XOZ:DT=X5:IFEF1=2THENRETURN

3960 EF%=1:LOCATES, 1:PRINT"exeed duration®;:RETURN

2970 === Cursor
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3980 I1%=PD%-PR%: IFIT%<>0THEN&OOOD

3990 BU%=2:DP%=B:RF1=1:605UB4180:RF%=0:CT$=LEFT$(CT$,LEN(CT$) -1) : LEX=LEX-BU%: LEY=LB%+BU%: CUL=LEL+1:R
ETURN

6000 CU%=LEX:FORIZ=1TOII%: CU%=CU%-VAL (MID$ (CT$,LEN(CTS)-I%+1,1)) s NEXT

6010 CUZ=CU%+VAL (MID$ (PS$,LEN(PS$)-11%+1,1)) :RETURN

60202 ===~~~ Address

6030 COT=VAL ("&H"+HEX$ (XHBOOO+CO%+RWY%LXHS0) ) : RETURN

6040 ’------Top % Bottos

6050 DRY=(NTZANDYHEQ)\ (25) : IFDR%C >O0THENAO90

6060 ACZ=NTZAND3

6070 IFACY<>0THENSOBOELSES130

6080 IFACYC>1THENS130ELSEDO%= (NTZANDA) \4: IFDO%=0THENTHY=58: BW%=92: RETURNELSES1 30
6090 PT%=(NT/ANDYH7800)\ (211) : IFNTLCOTHENPT%=PTLOREH10

6100 IFPTA=0THEN&13JOELSETHL=RBASEL-(PT%-1)43

6110 TFDR%=1THENTWY.=TWL-2: BUL=TWi+&:RETURN

A120 TFPTL1OTHENTWE=TWL-2: BWA=TWL+18: RETURNELSETWE=THY-15: BW%=TW1+18: RETURN
6130 TW%=b0:BW%=B4:RETURN

6140 =-—ns Tie

b150 TZA=LEN(CT$):T3%=0: TS%=VAL ("¥H"+RIGHTS{CT$,1)) -VAL (RIGHTS (PS$, 1)) +2: HX%=0: MN%=199
6160 TFT2U<>0THENA220

5170 C0%=0:BO%=kH656B: IFSRE=3THENA200

6180 RWL=MNL-8: IFRWL{BSANDRWYS2THENRW!=52

6190 GOTOA3L10

bZ00 RW%=MX%+b: IFRW1{BAANDRWY Y60 THENRWY=84

6210 BOTOAIS0

6220 NT%=DAX(T1%):60SUEL040

6230 IFTWLSMNATHENMNZ=TWY

6240 TFBWLOMXLTHENNXY=RWY

6250 TIA=TIA+VAL ("EH"+MIDS(CTS$,T2%, 1))

6260 T41=(NTLANDEH300) \ {2°8) s IFT4%{ > 1 THENAZRO

6270 T3%=TIL-VAL(MID$ (PS$,T2%,1)) :CO%=LE%-T3%: IFSRL( ITHENAZ9OELSEAI30

6280 T1X=T1%-1:724=T2%-1:60T06140

6290 RWY1=MN%-8: IFRW%{BSANDRWYS2THENRWY=52

6300 GOSUB6020: BAYL=YH6515: AL=USR3 (0) : CO%=CO%+2: T34=T3%-2: BRL=LHA5LE

6310 TFTIA-TSA(=0THEN6320ELSEBOSUB4020: A%=USR3 (0) : CO%=CO%+1: T3%=T31-1:60T06310
6320 BQ%=YHA527:605UBA020: AL=USR3(0) : RETURN

6330 RWX4=MX%: IFRWY{BLANDRWZ »60THENRWY=B4

6340 60SUB6020: BOYL=kH6540: AZ=USRI (0) : COX=CO%+2: T3L=T3%-2: BAY=4H654R: RNL=RWL+6
6330 IFTIA-TSA(=0THEN6ILO0ELSEBOSUBA020: A%=USR3 (0): CO%=CO%+1:T3%=T31-1:60T06350
6360 RWL=RWY-b:BR%=YHA552: 60SUBL020: AZ=USR3I (0} :RETURN

6370 ?----=< Triplet

6380 T22=LEN(CT$):T3%=0: TS%=VAL ("YH" +RIGHT$ (CT$,1))-VAL (RIGHT$ (PS8, 1)) :NX%=0: MN%=199
6390 NT%=DAX(T11):60SUB&040

6400 TFTWLCMNZTHENNNL=THY



6410 TIA=TIA+VAL("kH"+MID$ (CT$,T2%,1))

6420 IFT1%{>PUTHENG440

6430 T3%=TI%-VAL (MID$ (PS$,T2%,1) ) :CO%=LE%-T3%: X1=C0%: G0T0450

6440 T1A=T1%-1:T2%=T2%-1:60T06390

6430 RWZ=MN%-8: IFRW%{BSANDRWY >S2THENRWY=52

6460 GOSUB6020: BRY=YHE5Th: AL=USR3 (0) : COY=CO%+1:T3%=T3%-1: BR%=LHASHE

6470 IFTIL-TS%(=0THENG4BOELSEGOSUBA020: A%=USR3 (0): CO%=CO%+1: T3%=T3%-1:60T06470
6480 BO%=Y%H6580:605UBL020: AL=USR3 (0)

6490 CO%=(CO%+X2)\2+1: BRY=kHASBA: RWL=RW%-6: GOSUBA0Z0: A%=USR3 (0) : RETURN
6500 1--r=m= Search Clef

6310 OBL=28 (PR%-1) :0A%=VARPTR (DA% (1)) : A%=USRS (0) : 0B%=0B%/2+1

6320 TFDA%(OBY)=1THENK$="t"ELSEK$="h"

6330 RETURN

bR 1 eammne Search Key_sign.

6350 DBE=FRYL

6350 DBL=28(0B%-1) :0A%=VARPTR (DA% (1)) : A%=USRS {0 :0B%=0B%/2+42

6370 IF (DA% (OBZ%) ANDEHEQ) \32< 00R ( (DAY (OBY) AND3) { 52) THENORY=0RY-3: 60T06560
6380 NTZ=DAZ(OBY) :Yi=(NTZANDI2)\4

6390 IFY%=3THENKS$="n":G0T06620

6600 Ni=(NTLANDEH700)\ (2%8) :KS$=5TR$ (N1

6610 IFYZ=1THENKS$=KS4+°f*ELSEKS§=K58+"5"

6620 RETURN

6530 7 === Search Tise_sign.

66430 DBY=FR%

6650 OB%=28(0B%-1):0A%=VARFTR (DA% (1)) :A%=USRS(0):0B%=08%/2+3

6660 IF (DAY (DB%)ANDYHEO) \32¢ >00R { (DA% (DB%) AND3) ¢ 33) THENDE:=0BY-3: G0T06650
6670 NT%=DAZ(0BZ) : XX=(NTZANDEHF 000) \ (212) : V4= INTZANDEHF00) \ (2°8) s BL=X%/Y1
6680 T$=MID$ (TA$, X%, 1) +*/"+NID$ (TAS, YL, 1)

5690 RETURN

G mnss Token

6710 NU%=0:5X$="": IFCM$=""THENRETURN

6720 1%=1:X%=ASC(MID$ (CN$, 1%, 1)) : IFX%CABORYLYSTTHENS770ELSEAT 0

6730 X%=ASC(MID$ (CM$,1%,1)): IFXLCABORYL)STTHENATAO

6740 SX$=5X$+MID$ (CM$,1%,1)

6750 1%=1%+1: IFTZ>LEN(CH$) THENA760ELSEAT30

6760 NUZ=VAL (5X$) :CM$=RIGHTS (CM$,LEN(CMS$)-1%+1) :RETURN

6770 X%=ASC(MID$ (CM$, 1%, 1)) : IFXL>47ANDYL{SBTHENSBOO

6780 SX$=5X$+MID$ (CH$,1%,1)

6790 I1=1%+1:IFT%>LEN(CH$) THENSBOOELSEAT70

6800 NUX=VAL (5X$):CM$=RIGHT$ (CM$,LEN(CM$)-1%+1) :RETURN

6810 *-----~ Delete

6820 IFPR%=EDZTHENLOCATES, 1:PRINT"no data to delete®:RETURN

6830 NT%=DAZ(PRY):X1%=DR%: X2%=D0%: X3%=TP%: X4=DT

6840 DRX=(NTZANDHEO)\ (2%5) : IFDR%=0THENLOCATES, 1:PRINT"cannot delete this data®:RETURN

89



6850 DO%=(NTZAND&H400)\ (2*10) : G0SUB4S10: X5=DT

6860 TPY=(NTZANDYHIC) \4: IFTP%=0THEN&910

6870 IFTFZ{>0THENAB90

6880 TFZ=2:XSZ=TFZ:SHAPTPI,DRZ:DDZ=0:BDSUB4510:TL=DT+DT/2:TC=TL:TF1=2:SHAPTPZ,DR1
6890 TC=TC-X5: IFTC{>0THENG910 :

6900 BT=BT+TL/3:TFA=0:X3%=0:TN=0:LINE (40,19)- (79,19}, "

6910 BT=BT-X5:RCA=RCZ%-1:IFBT{>00RRC%¢ >10RSBA=LEN (SL$) \2THEN&40
6920 SL$=LEFT$(5L$,2058%) +RIGHTS (SL$,LEN(SLS)-24(SBZ+1))

6930 RCA=VAL (MID$ (SL$, 245B%,2) ) : G0SUBA950

694G BOSUB69S0: DR%=X1%:D0%=42%: TPE=A3%: DT=X4:VL=174: RETURN
670 s Shitt

6960 IFFS%=1THENXX%=ETZELSEXXY=EDY

4970 FORIZ=PRATOXXZ:DAL(I%)=DAY(1%+1) :NEXT

6980 PDA=PD%-1:ED%=ED%-1:ETYA=ET4-1:RETURN

7000 BOSUBA700: IFCH$=""THENY3%=1:RETURN
7010 GOSUB6700: IFNU%> (LEN(SL$)\2-1) THENX3%=1:RETURNELSEX 1 L=NUY,
7620 GOSUB6700: IFSX$< 5", "THENX2%=11%: 60767050
7030 GOSUB&700: IFNUY > (LEN(SL$I\2-1) DRNUZ X 1L THENXZ%=1: RETURN
7040 X2%=NU%:B0SUB&700
7030 IFSX$<{>"to"THEN70B0
7060 GOSUBL700: IFNU%> (LEN(SL$IAZ-1) OR (NU%>=X 1 LANDNUZL< X2%) THENX 3%=1: RETURN
7070 X3%=NUZ:IFCM$<>"*THENX3%=1:RETURNELSE7090
7080 IFSX$<>""THENY3%=1:RETURNELSEX3YX=LEN(5L$)12-1
7090 5X$=MID$(5L$, Z8X1%+1, (X21-X1%+1)42)
7100 IFEDZ+X2%-X1%+1>995THENX3%=2: RETURN
7110 CH$=LEFT$(SLS, (X3X+1) 42) +SX$+RIGHTS (5L S, LENISLS) - (X3%+1)42)
7120 SB%=X1%1:60SUBS150: X1%=FRY
{30 SBA=X2%+1:60SUBS150: X2%=PRY-1: X4L=X20-X 11+
7140 SEA=X3%+1:605UBS5150: ¥31=FR1
7150 IFX3%=EDLTHEN7170
7160 FORIX=EDA-1TOX3ZSTEP-1:J%=1%+X4%: DAL (JY) =DAL (1Y) :NEXT
7170 TFXIECKIATHENX L%=X 1%+ X4%: X2%=02%+ X4
7180 X3%=X3+X4%-1:FORI%=X2LTOX14STEP-1: DAL (X3%) =DA% (1%) : X3%=A3L-1: NEXT
7190 SL$=CM$:EDA=EDY%+X4%: X3%=0:605UR5130: RETURN
7200 '--~-=- Bar Delete
7210 GOSUBA700: IFCM$=""THEN7270
7220 GOSUB&700: IF (NUZOLEN(SL$)\2-1) ORNU%=0THEN7270ELSEX 1 1=NUZ
7230 IFCM$=""THENX2%=X1%:60T07280
7240 GOSUB6700: IFSX$<>*~"ANDSX${>", "THEN7270
7250 GOSUBA700: IFCM$<>**THEN7270
7260 IFNUZCX1%ORNUZ> (LEN(SL$)\2-1) THEN7270ELSEX2%=NU%: 60T07280
7270 X3%=1:RETURN
7280 CM$=LEFT$(SL$,24X1%) +RIGHT$ (SL$,LEN(SLS)-28(X2%+1))
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7290 SB%=X1%:60SURS150: X1%=PRY

7300 SBL=X2%+1:605UB5150: X21=PRY

310 FORI%=1TOED%-X2%: DA% (X1%+I%-1) =DA% (X2%+1%-1) tNEXT
7320 EDYA=EDX%-X2%+X1%:5L$=CM$: X3%=0:GOSUBS130: RETURN

6. Wsunsu “transpose"

110 CONSOLES, 20,0, 0
120 DIN TA%(13,3): DIN DAY(1200)

130 DATA 266,1030,778,518, 1290, 14, 1286,522, 774, 1034, 262, 1546, 1542
140 DATA 1,0,1,0,1,1,0,1,0,1,0,1,0

150 DATA 0,1,0,1,0,1,1,0,1,0,1,0,1

160  RESTORE130: FOR I%=1 TO 13 READ TAL(IX,1}: NEXT

170 RESTORE140: FOR I%=1 TO 13: READ TAZ(I%,2): NEXT

180  RESTORE1SO: FOR I%=1 TO 13: READ TAL(I%,3): NEXT

190 PRINTCHRS (12}

206 LOCATE23,2: COLOR4: PRINT® *+ COLORO
210 LOCATE23,3: COLOR4: PRINT® TRANSPOSITION ®: COLORO
220 LOCATE23,4: COLOR4: PRINT® *: COLORO

230 LOCATE10,8: LINEINFUT *up or down (U/D) 7 *; Vs
240 IF V$="u" OR V$="d" THEN 250 ELSE BEEP:GOTOZ30

2530 LOCATE10,10: INPUT "no. of semitones to transpose (1-12) = *; VL%

260 IF VL% OR VL%»12 THEN BEEP:GOT0250

270 SB1=0: RCY=0

280 OPEN "wrk-file" FOR INPUT ASH#t

290 LINEINPUT#L,TX§: INPUTH#1,EDL: INPUT#1,5L$: INPUTHI,NPY: Ki=1
300 IF KX=EDY THEN 480 ELSE INPUTHL,NTY

310 DR%=(NTZANDLHEQ)\ (2*5): IF DRZ(>0 THEN 530

320 ACY=NTLAND3

330 IF ACAC20 THEN 340

340  SBA=SBi+1: RCX=0: PRINT"transpose at bar ";SBY
350 GOTO A&0

360 IF ACA<>1 THEN 390

370 DO%=(NTLAND4)\4: IF DO%=0 THEN K$="t" ELSE K$="b"
380 GOTO 460

390 IF ACA<>2 THEN 660
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400 I%=1: SMi=VLY

410 IF NTRCOTAL(IZ, 1) THEN I%=I%+1: 60TO 410

420 J%=1%: IF J%=13 THEN J%=12

430 IF V§<>"u®™ THEN 480

440 DPY%=0: SL=J%+SMY:1F SM%>12 THEN SMY=SM1-17

430 IF J%=GM% THEN 520 ELSE DP%=DPZ+TAL(JL,2) :J%=%+1
460  IF J4>12 THEN J%=1

470 6OTO 450

480 DP%=0: SMA=J%-SMX:IF SMIC1  THEN SM%=5MZ+12
490 IF J%=5M% THEN 520 ELSE DP%=DPY-TAL(JY,3) :J%=J%-1
300 IF J%1 THEN J%=12

310 6OTO 490

520 NTZ=TAL(SMX,1): GOTO &70

330 TP%= (NTLANDEHIC) \4

340 PTL=(NTLANDEH7B00)\(2*11): IF NT%(O THEN PTZ=PTLOREH10
330 DO%=(NTZANDLHA00)\(2°10) : SR%=(NTAANDEH300) (2+8)

360 IF PTZC0 THEN 570 ELSE 450

370 PTA=PTA+DPY: IF PT%=(3! THEN 400

380 FRINT “note nuamber *;RCZ;" at bar ";SEY;® is higher than limit ydefault down 1 octave®
390 PT%=PT%-7: BOTO 430

600 IF PT%=31 THEN 430

610 PRINT "note number *;RC%;* at bar *;5B%;" is lower than liait ydefault up | octave®
620 FT4=PTi+7

630 ACZ=NTLAND3: IF AC%=0 THEN &40

640 IF PTA>=16 THEN PTY=PTi-16: NT%=LHBOOO: ELSE NT%=0

630 NTZ=NT I0R (PTZ$2048) OR AC% OR (DD%#1024) OR (SR%1256) OrR (T
Pit4) DR (DRY32)

660 FT%=0: AC%=0: DO%=0: SRY=0: TRY=0: DR%=0

670 DAL(KX)=NT%: K¥=KZ+l: RC%=RCZ+1: G0OTO300

680 CLOSE

690 OPEN "wrk-file® FOR OUTPUT AS#1

700 X%=1: PRINT#1,TX$: PRINT#1,ED%: PRINT#1,5L$: PRINTH#1,NPY
710 IF X%=ED% THEN 720 ELSE PRINTHI,DAX(X%): Xi=XX+1: GOTO 710
720 CLOSE: POKE YH65CO,1: CONSOLEO,25,0,0

730 RUN"MAIN"
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7. Wsunsu "medley"

1000 CLEAR1000:B@%=0:CQ%=0:0A%=0:0B%=0

1010 A%=VARPTR(BRX) : POKEXHEFO1, VAL ("4H"+MID$ (HEX$ (A%),3,2))

1020 POKE &HEF02, VAL ("XH"+NID$ (HEX$ (A%),1,2))

1030 A%=VARPTR{CQX) : POKEKHEFOS, VAL ("XH"+MID$ (HEX$ (A%),3,2))

1040 POKE LHEF06, VAL ("YH"+NMID$ (HEX$ (A%),1,2))

1050 AL=VARPTR (OAZ) : POKE&HF2B1, VAL (*¥H"+MID$ (HEXS$ (A%),3,2))

1060 POKEYHF2E2, VAL ("YH"+M1D$ (HEX$ (A%),1,2))

1070 A%=VARPTR(OBX) : POKEXHF 2B, VAL ("%H"+MID$ (HEXS$ (A%),3,2))

1080 POKEYHF2B6, VAL ("LH"+N1D$ (HEX$ (A%),1,2))

1090 POKEYHFZD4, VAL {"&H"+MID$ (HEX$ (A%),3,2))

1100 POKEYHF2D3, VAL ("&H"+MID$ (HEX$ (A%),1,2))

1110 DIMDAZ(1000) : DEFUSRO=XHEES0: DEFUSR1=4HEE70: DEFUSRZ=HEEDO
1120 DEFUSR3=YHEF00: DEFUSR4=8HF290: DEFUSRS=4HF 2R0

1130 R6%=72: BASEL=RGY+45: AT1=75: TA$="173456789" :ED%=1: A%=USK4 (0)
1140 TB$="1XCVBNMzxcvbnaasdfghjqmertyul 234567 ' "+CHR$ (34) +"$$%4° "
1150 DIM NM${13):DIM BRYL(13):DIN KY1(Z)

150 1 onan mediey

1170 PRINTCHRS (12) : A%=USR4 (0) :LOCATED, 2: COLOR4: PRINT* enter names of songs ";:COLORO
1180 FRINT®(s1,s2,...,512) ":KYL (1) =0:KYL(2)=0:KYI(3)=0

1190 LOCATEQ,4:LINEINPUTNMS (13):1%=1:J0%=1

1200 LINECO,1)-160,1)," ":FDY=0

1210 NM$(I%)=""

1220 TFJZ>LEN(NM$ (13)) THEN1270

1230 IFNID$ (NM$(13) ,J%, 1)=", "THENI%=T%+1: IF1%>1 2THEN1 250ELSE I %=d%+1: BOTO1210
1280 NM$(IZ)=NM$ (I7%)+MID$ (NM$(13),0%,1):0%4=0%+1:60T01220

1250 BEEP:LOCATEO, 1:PRINT"too such song to medley, enter again !*
1260 LINE(0,4)-(79,4)," *:60T01190

1270 Il=1:BR%(13)=0

1280 OPEN"Z:"+NM$ (1%)FORINPUTASRL:LINEINPUTHL, TY$: INPUT#,EDY
1290 INPUT#1,SL$:BRY(1%)=LEN(SL$)\2: BRY (13)=ER¥ (13) +BR% (1%)

1300 1%=1%+1:CLOSE: IFI%>120RNM$ (1%)=""THEN1310ELSE1280

1310 PRINTCHRS (12)

1829 * =571 Get Coamand

{330 BEEP1:FORI%Z=1T070:NEXT:BEEPO

1340 LOCATES, 1:COLOR4:PRINT® enter command *;:COLORO:PRINT® (MEDLEY,LIST,EXIT)*
1350 LOCATES, 3:LINEINPUT CH$:LINE(0,0)-(79,17)," *,BF

1360 AX=INSTRICN$," "):IFAX=0THEN1370ELSECN$=LEFT$(CM$,A%-1)+RIGHTS (CM$ LEN (CM$)-AL) :BOTO1340
1370 IFMID$(CMS,1,4)<>"1ist"THEN1450

1380 GOSUBA230: IFCM$=""THENB1%=0:B214=BR%(13)-1:60T01440

1390 GOSUBA230: IFNUZ%YBRY (13)-1THENI4B0ELSER1 %=NUY.

1400 TFCM$=""THENE2%=B1%:60701440

1410 GOSUBA230:IFSX$<>", "ANDSX$<>"~*THEN1480

1420 IFCM$=""THENB2%=BR%(13)-1:60T01440

1430 GOSUB4230: IFNUZCBIZORNUZ> (BR%(13)-1) THEN14B0ELSEB2%=NUY



1440 BS%=B1%:605UB1430:60T01330

1450 IFCM$<>"medley" THENI440ELSEL170

1460 IFCM$<>"exit"ANDCH$<>" "THEN14B0

1470 POKEYHASCO, {:RUN*MAIN®

1480 BEEP:LOCATES,0:PRINT*invalid coamand ":60T01340

1490 I=seeae List processing

1500 CT%=0:34%=0

1510 CTA=CTA+BRA(JI%) ¢ IFBIEOCTE-1THENJI%=001+1:60T01510

1520 SB%=B1%-CTZ+BR%(JJL)

1530 A=USR2(0):L%=80:5C=0:605UB2430: 60SUB2920

1540 LOCATES,17:PRINT"bar count = *;BSY%

1550 IFFDZC7JJATHENCM$=NM$ (JJ%) : BOSUB1A10:FDE=00%

1360 GOSUB2940:B1%=PRY: IFB24>CTL-1 THENNFY=1:EK%=ED%: B0T01580

1570 NF%=0:5B%=BZ/-CTL+BRY (JJ%) +1: GOSUB2940: EKY=FRY

1380 PR%=B1%:60SUB2970: IFLF%=2THENNF%=0

1390 IFNFZ=0THENRETURN

1600 JJ%=J0%+1:8B%=0:CTL=CTE+ER%(JI%) 1 BOTO1550

1t Bpmrea Load

1620 OFEN"Z:"+CM$FORINPUTAS®1:X%=1: LINEINPUT#1, TX6: INPUT#1  ED%: INPUTHL, SL$: INFUTHI, NP,
1630 TFX%=ED%THENCLOSE: RETURNELSEINPUT#1, DA% (YY) : X7=X%+1:60T01630

1880 e==mis Data Interpretation

1650 DRY=(NTZANDYHEO)\(2*5): IF DRE<>0 THEN 1B10

166G ACA=NTLAND3

1670 IF ACZ<0 THEN 1700

1680 BU%=3:DP%=1:CP%=1:RW%=40:605UB2500: BOSUB3S40

1690 IFNTA=ATHENB@X=kH6593: A%=USR3 (0) : RETURNELSEBOL=4HA44E: A%=USR3 (0) tRETURN
1700 IF ACE<»1 THEN 1740 :

1710 IFNTE=KYZ(1) ANDDAZ (PRY+1)=KY% {2) ANDDAZ (PRY+2) =KY% (3) THENFR%=PR%+2:RETURN
1720 KYL(1)=NT%:D0%= (NTZAND4) \4: [FDO%=0THENK$="t ": ELGEK$="1"

1730 BUX=7:DP%=1:CP%=3:605UB2500: G0SUB2260: LOCATE7S, 0: RETURN

1740 IF AC%{>2 THEN 1780

1750 ACL=(NTZAND12) \4: IFACA=3THENKS$="n": BU%=2:DP%=0:CP%=1:605UB2500: 60701770
1760 NZ=(NTZAND&H700)\ (2*8) :K5$=5TR$ (N%) : OSUB2710

1770 KY%{2)=NTL:RETURN :

1780 X1=(NTZANDEHF000)\ {2#12) : Y1=(NTZANDEHF00)\ (2*8) s BL=X%/YY

1790 TH=MIDS (TAS$, X%, 1)+"/"+NID$ (TAS,Y%,1)

1800 BU%=8:DP%=2:CP%=3:60SUB2500:60SUBZ170:KY%(3)=NT%: RETURN

1810 GPY%=(NTZANDYHIC) \4: IF (BP%=0)OR (@P%=HZ) THEN1840

1820 CN%=DRX:DR%=QP1%:D0%=0:605UB2830: DRA=CNY:LM=DT+DT/2:DC=0: HX=0P%: CN1=0
1830 IFJF%=1THENP%=PRLELSEP%=PR%-1

1840 IFQPL{OHLTHENHY=0:0P%=0

1830 PT%=(NTLANDYH7800)\(2*11):1F NTZCO THEN PTZ=PT%OR&H10

1860 DOX=(NTZAND&H400)\ (2*10) : SR%= (NTZANDLH300) \ (248)

1870 IFPTE{>0THEN1910ELSEGOSUB3090: 6OSUB2500: BOSUB2350

oL
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1880 IFDO%<>1THEN2030

1890 CO%=CO%+2:RW%=69: BA%=4H6573: IFDRYL(ITHENCOL=CO%+1

1900 GOSUB3340:A%=USR3 (0) : 60T02030

1910 RWA=BASEX-(PT1-1) #3:605UB31460

1920 IFDR%=1THENRWY=RW%-2ELSETFPTY > 16THENRWZ=RN%-2EL SERWL=RWY-15

1930 ACX=NTXAND3:IF AC%=0 THEN 1970

1940 BU%=BU%+Z:CPY=CP%+2: 60SUB 2500

1950 CLX=CO%:RLA=RWZ: IFDRY=1THENRWY=RW1-6ELSE IFPTY > 1 ATHENRWY=RUZ~6EL SERWL=RHY+7
1960 BOSUB2290:C0%=CLY+2: RHY=RLY: BOTO 1980

1970 GOSUB 2500:51%=C0%:52%=RW1

1980 G0SUB2620:CL%=CO%:RLY=RW%: 60SUB2090

1990 IF DO%<>1THEN2030

2000 TFPTZ>16THENRWZ=RW1+1ELSERWZ=RW1+14

2010 IF(PTL>16ANDDRY=4) OR (PT%<=16ANDDRY=5) THENBO%=kH6573: ELSERRL=LH570
2020 CO%=C0%+2:605UB3540: A%=USR3 (0}

2030 IFH%=0THEN2060ELSECNY=CNY+1: BOSUB2830: DC=DC+DT: IFDCC sLHTHENZO40
2040 IFJF%=1THENT11=PRYELSET1%=PRYL-1

2050 GOSUB3900:PL=0:H%=0

2060 IF SR%<2 THEN RETURN

2070 IFJF%=1THENT1%=PRYELSET1%=PRY-1

2080 GOSUB36A0:RETURN

2090 ’———~-+ Note

2100 IFDR%=1THENBQL=kHA1BC: 60702140

2110 IFDRA=2THENIFPTY> 16THENBQY=YH&0Eb: BOTOZ1 S0EL SEBRY=4H623D: BOTO2140
2120 TFDRY=3THENIFPTY>16THENBQY=EH6120: 60021 40EL SEBQY=4HH2C3: 50TOZ1 40
2130 IFDR%=4THENIFPTY)16THENB@2=4HE15A: 60TO2160ELSERRY=KH6277: 0TO2140
2140 IFDR%=STHENIFPTZ)16THENBRZ=kH4182: 60T02140ELSEBAY=LHA2FD: 6OTO21 60
2150 IFDR%=6THENIFPTY>16THENBOY=kH371: ELSEBOY=LHE337

2160 GOSUB3540:A%=USR3 (0) :RETURN

2170 ?=----- Time-sign.

2180 CLX=CO%:RW1=R61-11:CH=NID$(T$,1,1):605UB2200: GOSUB3SA0: A%=USK3 (0}
2190 COX=CLX:RW2=RBY+1:C$=NI1D$(T$,3,1):605UB 2200: GOSUB3S40: AL=USR3 (0) : RETURN
2200 IFC$="2"THENEQZ=kH&4E1:RETURN

2210 IFC$="3"THENBR%=kH&40A: RETURN

2220 1FC$="4"THENBRY=LH40CC: RETURN

2230 IFC$="5"THENBQ%=kH6223:RETURN

2240 IFC$="6"THENB@1=LHb48B: RETURN

2250 IFC$="8"THENBQ%=XH&4FB:RETURN

2260 *===-2o Clet

2270 IFK$="t"THENBA1=kHA000: RW%=58ELSERQL=4HA1CF RN Y =61

2280 BOSUB3540:A%=USR3(0) :RETURN

2280 222 Accidental

2300 ONACZ60T02310,2320,2330

2310 BOL=YH6OAE:RWL=RWY-1:60T02340



2320 BE%=YLH6IDC: RWA=RW%+2: 60T02340
2330 BOY=LHOIFA:RWL=RWZ+2
340 GOSUB3540:A%=USR3(0) :RETURN
2800 iamnna Rest
2360 IFDR%=1THENBR%=&HA3AR: RW4=57:60T02420
2370 IFDR%=2THENBEY%=&HAJAB: RWL=69:60T02420
2380 IFDR%=3THENBRZ=&HAAAC:RWL=43:60T02420
2390 IFDR%=4THENBRZ=%HA3BB: RW%=64:60T02420
2400 IFDR%=STHENBOZL=4HA426:RWL=64:60T02420
2410 IFDRZ=GTHENERY=%HA44A: RWL=44
2470 GOSUB3S40:A%=USR3(0) s RETURN
283 i teman o Stave
2440 POKE WHEESE,LY
2450 FOR I%=RB%-1Z TOD RG%+12 STEP &
2460 ST=SC+LHBOOO+65534 ! +B0X1Y :ST$=HEX$ (ST)
2470 ST=VAL{"&h"+MID$(ST$, 1,2} ) :POKE YHEESE,ST
2480 ST=VAL{"kh"+MID$(5T%,3,2)):POKE &HEESS,ST
2490 A=USR0O{0):NEXT:RETURN
N CRT-management
2510 IFBUZ=7LBETHENZST70
2520 LBI=LBI-BUL
2530 CT$=CTH+HEX$ (BUL)
2540 IFRF%=0THENPS$=FS$+MID$ (TA$, CFL, 1)
2530 CO%=LE%+DPY:LEX=LE%+BUY
2560 RETURN
2370 NE%=VAL("kh"+LEFT$(CT$,1))
2580 LBA=LBLI+NBL: LEX=LEY-VAL ("kh"+LEFT$(CT$, 1))
2590 CT$=RIGHT$(CT$ ,LEN(CTS$)-1)
2600 PS$=RIGHT$ (PS$,LEN(PS$)-1)
2610 POKE YHEES,NBX:A=USR1(0):60T02510
Mol e Leger Line
2630 CL%=RG7%: IFNOTPTY>21 THENZ640
2640 IFPTZMODZ=0THENRGY=RWX+14ELSERGY=RW4+17
2650 BOTOZE90
2660 TFNOTFTACLITHENZT00
2670 IFPTZMODZ=0THENRGZ=RW%+3ELSERGY=RWY
2480 IFDRZ=1THENRGZ=RE%-13
2690 SC=CO%:L%=2:60SUB2430
2700 Re%=CL%:RETURN
210l oa=-ms Key-sign.
2720 'paraseters are n,no. of acc and ac,type of acc
2730. CP%=1: IFK$="t "THENINZ=0ELSEIN%=4
2740 IFAC%=1THENRESTORE2810:KS$=K54+"f "ELSERESTOREZBZ0: KS$=K5$+"5"
2750 FORIZ=1TON%: READC%:NNX (1%)=Ch:NEXT
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2760 BUZ=N%32:CP%=BU%\Z: DP%=0:605UB2500:S1%=C0%
2770 FORIZ=1TONY

2780 RWL=REL+NNL(IL)+IN%-B:C0%=87%

2790 GOSUB2290:51%=51%+2

ZB00 NEXT:RETURN

2810 DATA 0,-9,3,-b6,6,-3

28720 DATA -12,-3,=15,26,3,-%

2030 - —nae Get Duration Tiae

2840 IF DR%=1 THEN DT=1:G60T0 2900

2850 IF DR%Z=Z THEN DT=,5:607T0 2900

2860 IF DR%=3 THEN DT=.25:6070 2900

2870 IF DR%=4 THEN DT=.125:6070 2900

2880 IF DR%=5 THEN DT=,0625:60T0 2900

2890 IF DR%=6 THEN DT=,03125

2900 IF DO%=1 THEN DT=DT+DT/Z

2910 RETURN

AR Clear

2930 H1=0:C0%=0:CT4=""sP5$="":LBY=B0:LEX=0:DF =1 :C1%=0:RETURN
2980V m e Bar Locate

2950 IF SB%=0 THEN FR%Z=1:RETURN

2960 PR%=0:FORI%Z=0TOSEY-1:PRYU=FRA+VALIMID$ (SL$,201%+1,2)) s NEXT: PRE=PR%+1:RETURN

230t -ccntn List

2980 JFi=1:LF%=0

2990 IFPRYCITHENBOSUB4030: G0SUR4G70: GOSUBS 140

3000 IFPR%=EKZTHEN3OBOELSENTY=DA% (PR¥):GOSUB1640: PRY=PRY+1
3010 IFNOT(DR%=0ANDAC%=0) THENIFLF%{>ZTHENZOI0ELSES GO0
3020 BS¥=BSA+1:LOCATEL7,17:PRINTESY: IFLF%=2THENI0BO
3G30 CM$=INKEY$: IFCHM$=""THEN3000

3040 TFASC{CN#}=176THENLF%=2:LOCATES, 0:PRINT "break at bar*;BS%:BEEP:G0T03000
3050 IFASCHCMS$)C>32THENIO00

3060 IFLFZ=1THENLF%=0:60T03000: ELSEREEF

3070 CM$=INKEY$: IFCM$=""THEN3Z070:ELSELF%=1:60T03040
3080 JFY=0:RETURN

300 Seeagan Byte Use of Rest

3100 IFDRY=1THENBU%=9:DP%=3:CP%=4

3110 IFDR%=ZTHENBUZ=7:DP%=2:CP%=3

3120 IFDR%=3THENBUZ=5:DP%=1:CP%=2

3130 IFDRY%=4THENBUZ%=4:DP%=1:CP1=2

3140 IF DR%>4 THEN BUZ=3:DP%=0:CP%=1

3150 RETURN

Shh0 Ve Byte Bse of Note

3170 IFDR%=1THENBU%=9:DP%=3:CFi=4

3180 IFDR%=2THENBUL=7:DP%=2:CP%=3

3190 IFDR%=3THENBUZ=5:DP%=1:CP%=2
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3200 IFDRY=4THENBUZ=4:DF%=0:CP%=1: IFPT%>16THENDPY=1
3210 TFDR%>4THENBU%=3:DP%=0:CP%=1

3220 RETURN

3230 '---~-- Display Data

3240 LOCATES, 23:PRINT*Sound(1-7) Slur(S,E)  Dot(D) Accidental (F,5,N)"

3250 LINE(0,24)-(75,24)," ":BN1=0: IFNT%=0THEN3Z80
3260 IFPR%=EDLTHENRETURN

3270 DR%=(NTZANDYHEO) \ {2“5) : IFDRY >OTHEN3310
3280 IFPF%=0THENRETURN

3290 IFTFL=0THENLINE(40,19i-(79,19)," *

3300 PFZ=0:RETURN

3310 LIRE(CRY,21)-(CR%,21)," ":CRY=(DR%-1) 45451
3320 COLORZ:LINE(CRY,21)-(CR%,21), "P*:COLORO

3330 Y1=(NTLANDEHIC) \4: IFY1=FF1THEN3360
3340 IFTFL=0THENLINE (40, 19)-(79,19)," *

3350 PFA=Y1: IFYI=0THEN3380

3360 X4=(Y%-1) ¥5+51: COLOR4: LOCATE XY, 19: PRINT"%*: COLORO

3370 LOCATE40,19:PRINT triplet®

3380 PT%=(NTYANDEHTB00)\ (2*11) s TF NT%O THEN FTY=PTLORLH10
3390 IFPT%=0THENLOCATE®, 24:FRINT rest™;: BN%=2: 60703430
3400 IFK$="t"THENX1=PTL+SELSEXL=PT

3410 YI=YUNOD7: IFY%=0THENYY=7

3420 LOCATE7, 24:PRINTHIDS (“COEFGAR™, Y%, 1) ;s BNY=1

3430 DO%=(NTLANDEHA00)\ (2*10) : SR¥= (NTLANDEHZO00) | (248)
3440 IFSR%=0THEN34BOELSERNI=2

3430 IFSRY=1THENLOCATEL9, 24:FRINT*s"; : 6003480

3460 TFSR%=2THENLOCATE19,24:PRINT e";: 60703480

3470 TFSR%=3THENLOCATEL9, 24:FRINTE®;

3480 IFDO%{OTHENLOCATES!, 24:PRINT*d"; 1 EN%=3

3490 ACA=NTZAND3: IFACL=0THEN3S30ELSEBN1=4

3300 IFACZ=1THENLOCATEAS, 24:PRINT"4*;:60703530

3310 IFACX=2THENLOCATE4S, 24: PRINT*s"; 160703530

3320 IFAC%=3THENLOCATEAS, Z4:PRINT"n"; 160703530

3530 RETURN

3540 ?--——-- Get Target Address

3550 CRA=VAL("&H"+HEX$ (YHBOOO+COY+RWLEEHS0) ) : RETURN
3560 *------ Get Top & Bottos Row Of Braphic

3370 DR%=(NTZAND&HEO)\ (25) : IFDRY%< YOTHEN3410

3380 AC%=NTZAND3

3390 IFACYS >OTHEN3S00ELSE3650

3600 IFACY<> 1 THENISOELSEDOX= (NTZANDA) \4: IFDOX=0THENTWY=58: BW%=92: RETURNEL SE 3450

3610 PT%=(NTXANDEH7B00)\ (2*11) : IFNTLCOTHENPT%=PTLORYH10
3620 IFPTX=0THEN3&SOELSETHYX=BASEL- (PTY-1)43
3630 IFDRY=1THENTWYZ=TWY-2: BWL=TH%+b: RETURN
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3640 TFPTZL>16THENTHA=THY-2: BWL=TW%+18: RETURNELSETWL=TW%-15: BWL=TW%+18: RETURN
3650 TW%=560:EWYL=84:RETURN

ALY e Tie Processing

3670 *Ti% is the parameter represent current data

3680 T24=LEN(CT$) : T3%=0: TSA=VAL ("kH"+RIGHT$ (CT$, 1)) -VAL (RIBHTS (PS$, 1)) +2: MX%=0: MNY%=199
3690 IFT2U<(>0THEN3750

3700 CO%=0:BA%=4HA56B: IFSR1=3THEN3730

3710 RW%=MNY-8: IFRWL{BSANDRWY >5ZTHENRW1=52

3720 60TO3B40

3730 RWA=HX7+b: IFRWY{BAANDRWY 260 THENRKL=86

3740 GOTO3880

3750 NT%=DA%(T1%):B0SUB3560

3760 TFTRLCMNLTHENMNY=TWY

3770 TFBWL MXLTHENMYZ=RiY

3780 TIA=TI%+VAL ("WH"+NID$ (CT$,T2%, 1))

3790 TA%=(NTLANDEH300)\ (2°8): IFTA%C 31 THENIBLO

3800 TIX=T3L-VAL(MIDS (PS$,T2%, 1)) :CO%=LEL-T3%: IFSR%S ITHENIB20ELSE 3840

3810 T1A=T14-1:T24=T2%-1: 60703490

2820 RWi=MN1-8: IFRWY<BSANDRWY )52 THENRWL=52

3830 GOSUB3GA0:BOY=YHE515: AL=USR3 (011 C0%=CO%+2: T31=T3%-2: BOL=LHASLE

3840 IFT3%-T3%{=0THENIBSO0ELSEGOSUB3S40: A%=USR3 (0) : COX=CO%+1: T2L=T3%-1: 60703840
3830 BEY=LHASZ7:B0SUB3S40: A%=USR3 (0) :RETURN

3860 RWi=MIY: IFRW.(BGANDRWY »60THENRK =84

3870 BOSUB3340:BOYL=YLHE540: AT=USR3 (0):COX=CO%+2: T3L=T3%-2: BRL=LHA56E: RHL=RWI+6
880 IFT3X-T3%(=0THENIBIOELSEGOSUBIS40: AL=USR3 (0) : CO%=CO%+1: T32=T3%-1:60TO3R80
3890 RWI=RWY-6:BO%=kHAS52: GOSUBIS40: AL=USRI (0) : RETURN

3900t Triplet Processing

3910 T2U=LEN(CT$):T3%=0:TS%=VAL (" YH"+RIGHTS (CT, 1)) -VAL (RIGHT$ (PS$, 1)) :MX%=0; HNL 199
3920 NTY=DAX(T1{%):B0SUB350

3930 IFTWLCMNATHENNNY=TWY

1940 TIR=TIA+VAL ("YH"+MID$ (CT$,T2%,1))

3950 IFT1Z{>PLTHENIS70

3960 TIA=T3X-VAL (MID$ (PS$,T2%,1)) : CO%=LEL-T3%: X1=C0%: 60T0I980

3970 T1L=T11-1:T24=T2%-1:60T03920

3980 RW1=MN1-8: IFRW1{BSANDRWY>S2THENRWL=52

3990 BOSUB3SA40:BA%=kHA576: AL=USRI (0):COA=CO%+1: TI%=T31-1: BOL=LH6S6E

4000 IFT3%-TSYA<=0THENAO1OELSEBDSUBISA0: A%=USR3(0) :C0%=CO%+1: T3%=T3%-1:60T04000
4010 BRY=YH6580: GOSUB3540: AL=USR3 (0)

4020 CO%=(CO%+X2)\2+1: BR%=kHA5BA: RWL=RWI-6: B0SUBIS40: A%=USR3 (0) s RETURN

4050 ' —=nc- Search Clef

4040 OBA=28(PRY-1):0A%=VARFTR (DA% (1)) :A%=USRS (0) : DEX=0BY/2+1

4050 IFDAX(0OB%)=1THENK$="t "ELSEK$="b"

4060 KYZ(1)=DAX(0B%) :RETURN

8070 === Search Key_sign.
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4080 0B%=PR%
4090 0B%=2% (0B%-1) :0A%=VARPTR (DA% (1)) : AZ=USRS (0) ; DBY=0B1/2+2
4100 TF (DA (OBZ) ANDYHEO) \32¢300R ( (DAY (0BY) AND3) ¢ >2) THENOBY=0B1-3: 50T04090
4110 NT%=DAZ(OB%) : YZ={NTZAND12)\4
4120 IFYY=3THENKS$="n":B0TO4150
4130 NL={NTZANDEH700)\ (2"B) :KS$=5TR$ (N1)
140 TFYL=1THENKS$=KS$+" £ “ELSEKS$=K58+"c"
4130 KYL(2) =DA% (DBL) :RETURN
4160 *-=-—= Search Time_sign.
4170 OB%=PRY
4180 TB%=24(0B1-1) :0A%=VARPTR (DA% (1)) : A%=USRS (0) : OBL=0B1/2+3
4190 IF (DA% (OB%) ANDEHEQ) \32< 500K { (DAY (OB%) AND3) ¢ >3) THENOBY=0BY-3: G0TO4180
4200 NTZ=DAZ{OBL) : X%=(NTZANDEHFOOG) \ (2°12) 1 Y= (NTLANDKHF Q0 \ (2°8) : BL=Y2/¥1
4210 TH=MIDS(TAS, XX, 1)+°/"+NID$ (TAS, Y2, 1}
3220 KYL{3)=DAX(DBL) sRETURN
8230 ~-aar Comsand Token
4240 NU%=0:51%=""; IFCM4$=""THENRETURN
4250 1%=1:XA=ASC(MID$ (CN$, TY, 1)) : IFX%CABORXY>STTHENE300ELSEAZ40
4260 XL=AGC(MIDS$ (CM$, 1%, 1)) s IFYLC4BORNLISTTHENAZ90
4270 SX$=5X$+MIDS(CNS, 1%, 1)
4280 I%=1%+1:IFI%LEN(CM$) THENAZ90ELSEA260
4290 NUL=VAL (5X$) :CM$=RIGHT$ (CN$, LEN(CH$) -1%+1) : RETURN
4300 X%=ASCIMIDS (CM$, 1%, 1)) : IFXL47ANDYLCSETHENAZ0
4310 SX$=GX$+MIDS (CMs,11,1)
4320 1%=1%+1: IFIZ5LEN(CM$) THENISOELSE4300
4330 NUZ=VAL (SX$) :CH$=RIGHT$ (CN$, LEN(CH$)-1%+1) s RETURN
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8. TUSUNTNHBUNINT LATAN

ADRS

EESC
EE5Z
EES4
EES7
EESY
EESH
EESC
EESD
EE&C
EE&Z
EEL4

ADRS

EEDO
EEDZ
EED4
EEL7
EEDY
EEDC
EEDF
EEE1
EEE3
EEES

11fy

OBJECT

3E4]
D3EF
210000
JEGO
BLET
23

b
C259€E
JE01
D3EF

~
L

4344

OBJECT

JE41
D3eF
210080
3600
110180
01002D
EDEO
3E01
D3IEF
C9

1-B0 ASSEMBLY LIST

OF

LD
i
LD
LD
LD
INC
DEC
JF
LD
i
RET

OFRAND

A, 41H
(EFH) , A
HL , 0000H
A, 00H
(L) , ARH
HL

A
NZ,EES9H
A, 01H
{EFI), A

1-80 AGSEMBLY LIST

3

LD
i
LD
LD
LD
LD
LDIR
LD
out
RET

OPRAND

A, 41H
(EFH) , &
HL , BOOOH
(L) , O0H
DE, BOOIH
BC, 2D00H

A, O1H
(EFH) , A

111 USRO

COMMENT

¥ RETURN 1

s UJSR?Z

COMMENT

¥ RETURN 1t

PAGE=

PABE=

0

i

101



ADRS

EE70
EE72
EE74
EE77
EE79
EE7A
EE7D
EETF
EEBI
EERZ
EERS
EEB7
EEBA
EEGD
EEBF
EEF0
EE91
EE94
EE%6
EE97
EE9A
EE9D
EEAC
EEAZ
EEA4
EEAS
EEAS
EEAB
EEAR
EEAC
EEAF
EEBC.
EER1
EER2
EER4
EEBS
EERb
EERY
EERA
EEBB
EERC
EEBF
EECO

1334
OBJECT

3641
DIEF
CDASEE
E7
09
015000
ED42
3600
3n
C27DEE
IE05
210F93
01E001
1868
09

zn
C2BDEE
100
0
CAROEE
CDASEE
CI96EE
301
DIEF
t9

Fs
71
210085
S
014F00
54

5D

2
EDBO
28

09
015000
El

09

n
C2ABEE
Fi

c9

1-80

ASSEMBLY LIST

oF

Lo
ouT
CALL
LD
EX
LD
SBC
LD
DEC
I
LD
Lo
)
LD
ADD
DEC
I
LD
DEC
P
CALL
IF
L
our
RET
FUSH
Lo
L
PUSH
LD
L
)
INC
LDIR
DEC
EXX
Lo
POP
ADD
DEC
IF
PO
RET

OFRAND

A, 41H
(EFH) , A
EEASH
A, 7HH

BC, 0050H
HL, BC
(HL) , 00K

A
H

NZ,EE7DH
A, 0SH
HL, 930FH
BC, 01EOH
(HL) , ABH
HL, BC

A
N1,EEBDN
A, 00K

A
1,EEAGH
EEASH
EE94H
A,01H
(EFHI, &

AF
A, 7HH
HL, B500H
HL

BC, 004FH
D,H

E,L

HL

HL

B, 0050H
HL

HL, BC

A
NZ,EEARH
AF

1114

USR1

COMMENT

¥ RETURN 1

¥ RETURN

PAGE=

0
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ADRS

EFO0
EF03
EF07
EF08
EF09
EFO4
EFQC
EFOE
EFOF
EFi0
EFil
EF12
EFi3
EF14
EF1S
EFLS
EFi8
EF19
EF1A
EFIE
EFIC
EFIE
EFIF
EFZ0
EF21
EF2Z
EFZS
EF26
EF27
EF28
EF24
EFZH
EF2C
EFZE
EF30

s z-80 assemeLy Lst n (JSR 3

OBJECT

ZAHBEC
EDSRBDEC
46

280D
00
bi

ER
415000
09
EE
L1
1BES
00
01
3E01
D3EF
]

oF

Lo
LD
LD
INC
LD
LD
out
INC
PUSH
PUSH
Lh
3
LD
INC
INC
DINZ
NOF
NOP
FOF
DEC
IR
NOF
FoF
FUSH
EX

ADD
EX
POF
JR
NOP
FOP
LD
ouT
RET

OFRAND COMMENT

HL, (BCEH:
DE, (BCEDH)
B, (HL)

AL

C, (HL)

A, 41K
(EFHY, A

-3 ¥-5=EF1IH

RC
C
1,44(5 141 5=EF 2BH

o
B

DE, KL

KL, 0050H

HL, BC

DE, HL

B

£-25 1-25=EFOFH

DE
A, 01H
(EFH) , A
1 RETURN 1

FAGE=

0

103



2N

ADRS

F250
F292
F294
F297
F299
F29C
F29F
FZAl
FZAZ
FZRS

ADRS

FZRo
F2B3
F287
FZB8
FZR9
FZRE
F2RE
F2co
F2C3
FzC4
F2Cs
FzCé
FzC7
F2CA
FZCR
F2cc
F2CE
F2CF
F202
F2Dé

texy 1-B0  ASSEMBLY LIST 1144 USRA

OBJECT

3E41
D3EF
210080
3600
110180
010040
EDBO
JE01
D3EF
L9

oF

LD
out
LD
LD
LD
LD
LDIR
LE
aut
RET

OPRAND COMMENT

A, 41K
(EFH) , A
KL, BOGOH
(L), 00
DE , BOO1H
B, 4000K

A, G1H
(EFH) A
§ RETURN 1

mir 180 assemeLy List s (JSRH

DBJECT

2ACZRC
ED4RC7HC
0

7E

FEO!
CACAFZ
FEQS
CACAFZ
28

0B

2B

(B
C3RBFZ
23

7E

FEOO

2B
C2C3F2
ED43C7RC
L9

oF

LD
kD
ADD
LD
CF
JF
o
JF
DEC
DEC
DEC
DEC
JF
INC
LD
P
DEC
JP
LD
RET

OPRAND COMNENT

HL, (BCCZH)
B, {BCC7H)
HL, BC
A, (L)
a1H
1,F2CAH
05H
1,F2CAK
HL
iC
HL
B
F2RBH
HL
A, (HL)
00H
HL
N1,F2C3H
(BCCTH) , BC
t RETURN ¢

PAGE=

PAGE=

0

0

104



~

Uszian 1

dszian 2

Jszian 3
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AANEIN A

AgUrads
L d
FIdaudns g oyaunaonn
PRV f1aSuiy
LIST m, n LIou TURAUESULSn W

(Ma¥a 3.3.1.1.1)
FILES uAn3 Fo 1 was luanwdiin
(Wa9n 3.3.1.1.2)
TITLE wamg Lmﬁ.mﬂumsﬁnﬁ’mwmuuaamw

(Wage 3.3.1.1.1.3)
FAadafn 9§ ads oonYayalmMuIuAINTIF 15 04

PAUTET] Fasuiy
SAVE "name"  fiug oy@s mays YAIINSIL P dR1uduTin
&
(M29D 3.3.1.1.2.1)
LOAD "neme" Unryej"ayam NAIMYUTINL 89 é:wu";u AN

(299 3.3.1.1.2.2)
GRED Usulgagayar 94 nau

gyuuu F1a5uy
NEW 1SuEUs rUv
(Waro 3.3.1.1.3.1)
COPY m, n, TO r aamf'aga"iu‘;muﬁtﬂﬂunfnﬁaﬁﬁvﬁm

(M990 3. 315128223
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PRV ~ F1a5uiy

DELETE m, n fanous oy R TURAUAS 0on L Tus 1 09
(W29 3.3.1.1.3.3)

TRANSPOSE WRBOW AL AU 1909 1WA
(Wago 3.3.1.1.3.4)

MEDLEY 1Joumainag

(Wa¥ia 3.3.1.1.3.5)
Uszian 4 AndeUsuly 19 ayauuu Tesmou

ALY f1aSue
EDIT Usudgagoyauuuianeufiay 1 wiwe oya

(Wa9d 3.3.1.1.4)
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Usz By 1 Juu

WILE Isauysa 1Aeull we AwWNAY e #1151 3fnen
- L4 - L
e anstiadm (AlmAans ) InARANOM TR wIne¥e 1@avny O sdnen
odor LY AN I HULRun M Hodie U I IMEIm aASAauRI LIRS N1 ABun

2An53UPUR AT Tul w.d. weee
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